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� Eоот6етEт688 E подпу=кто< 5.2.41 �оло6е=8O о �8=8EтеDEт6е о5D47о64=8O 8 =4ук8 
 оEE89Eко9 $едеD4F88, ут6еD6де==о7о поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 
3 8N=O 2013 7. N 466 (!о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2013, N 23, Eт. 2923; N 
33, Eт. 4386; N 37, Eт. 4702; 2014, N 2, Eт. 126; N 6, Eт. 582; N 27, Eт. 3776), пу=кто< 17 �D468л 
D47D45отк8, ут6еD6де=8O DедеD4лL=KE 7оEуд4DEт6е==KE о5D47о64телL=KE Eт4=д4Dто6 8 6=еEе=8O 
6 =8E 87<е=е=89, ут6еD6де==KE поEт4=о6ле=8е< �D468телLEт64  оEE89Eко9 $едеD4F88 от 5 
467уEт4 2013 7. N 661 (!о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2013, N 33, Eт. 4377), 
пD8к47K64N: 

1. 'т6еDд8тL пD8л474е<K9 DедеD4лL=K9 7оEуд4DEт6е==K9 о5D47о64телL=K9 Eт4=д4Dт 
EDед=е7о пDоDеEE8о=4лL=о7о о5D47о64=8O по EпеF84лL=оEт8 31.02.02 �куHеDEкое дело. 

2. �D87=4тL утD4т86H8< E8лу пD8к47 �8=8EтеDEт64 о5D47о64=8O 8 =4ук8  оEE89Eко9 
$едеD4F88 от 28 октO5DO 2009 7. N 482 "О5 ут6еD6де=88 8 66еде=88 6 де9Eт68е DедеD4лL=о7о 
7оEуд4DEт6е==о7о о5D47о64телL=о7о Eт4=д4Dт4 EDед=е7о пDоDеEE8о=4лL=о7о о5D47о64=8O по 
EпеF84лL=оEт8 060102 �куHеDEкое дело" (74Dе78EтD8Dо64= �8=8EтеDEт6о< NEт8F88  оEE89Eко9 
$едеD4F88 8 дек45DO 2009 7., Dе78EтD4F8о==K9 N 15440). 

3. �4EтоOI89 пD8к47 6Eтуп4ет 6 E8лу E 1 Eе=тO5DO 2014 7од4. 
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1.1. �4EтоOI89 DедеD4лL=K9 7оEуд4DEт6е==K9 о5D47о64телL=K9 Eт4=д4Dт EDед=е7о 
пDоDеEE8о=4лL=о7о о5D47о64=8O пDедEт46лOет Eо5о9 Eо6окуп=оEтL о5O74телL=KE тDе5о64=89 к 
EDед=е<у пDоDеEE8о=4лL=о<у о5D47о64=8N по EпеF84лL=оEт8 31.02.02 �куHеDEкое дело длO 
пDоDеEE8о=4лL=о9 о5D47о64телL=о9 оD74=874F88 8 о5D47о64телL=о9 оD74=874F88 6KEHе7о 
о5D47о64=8O, котоDKе 8<еNт пD46о =4 Dе4л874F8N 8<еNI8E 7оEуд4DEт6е==уN 4ккDед8т4F8N 
пDо7D4<< под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 по д4==о9 EпеF84лL=оEт8, =4 теDD8тоD88 
 оEE89Eко9 $едеD4F88 (д4лее - о5D47о64телL=4O оD74=874F8O). 

1.2. �D46о =4 Dе4л874F8N пDо7D4<<K под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 по 
EпеF84лL=оEт8 31.02.02 �куHеDEкое дело 8<еет о5D47о64телL=4O оD74=874F8O пD8 =4л8G88 
Eоот6етEт6уNIе9 л8Fе=788 =4 оEуIеEт6ле=8е о5D47о64телL=о9 деOтелL=оEт8. 

�о7<о6=4 Eете64O DоD<4 Dе4л874F88 пDо7D4<<K под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 E 
8EполL7о64=8е< DеEуDEо6 =еEколLк8E о5D47о64телL=KE оD74=874F89. � Dе4л874F88 пDо7D4<<K 
под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 E 8EполL7о64=8е< Eете6о9 DоD<K =4DOду E 
о5D47о64телL=K<8 оD74=874F8O<8 т4к6е <о7ут уG4Eт6о64тL <ед8F8=Eк8е оD74=874F88, 
оD74=874F88 кулLтуDK, D87кулLтуD=о-EпоDт86=Kе 8 8=Kе оD74=874F88, о5л4д4NI8е DеEуDE4<8, 
=ео5Eод8<K<8 длO оEуIеEт6ле=8O о5уGе=8O, пDо6еде=8O уGе5=о9 8 пDо876одEт6е==о9 пD4кт8к8 
8 оEуIеEт6ле=8O 8=KE 68до6 уGе5=о9 деOтелL=оEт8, пDедуE<отDе==KE пDо7D4<<о9 под7ото6к8 
EпеF84л8Eто6 EDед=е7о 76е=4. 
 

II. �!�ОЛ0�'��/� !ОК �Щ���/ 

 

� =4EтоOIе< Eт4=д4Dте 8EполL7уNтEO EледуNI8е EокD4Iе=8O: 

!�О - EDед=ее пDоDеEE8о=4лL=ое о5D47о64=8е; 

$�О! !�О - DедеD4лL=K9 7оEуд4DEт6е==K9 о5D47о64телL=K9 Eт4=д4Dт EDед=е7о 
пDоDеEE8о=4лL=о7о о5D47о64=8O; 

��!!� - пDо7D4<<4 под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4; 

ОК - о5I4O ко<пете=F8O; 

�К - пDоDеEE8о=4лL=4O ко<пете=F8O; 

�� - пDоDеEE8о=4лL=K9 <одулL; 

��К - <е6д8EF8пл8=4D=K9 куDE. 
 

III. %� �К&� �!&�К� �О��О&О�К� �О !��&��Л0�О!&� 

 

3.1. �олуGе=8е !�О по ��!!� допуEк4етEO толLко 6 о5D47о64телL=о9 оD74=874F88. 

3.2. !Dок8 полуGе=8O !�О по EпеF84лL=оEт8 31.02.02 �куHеDEкое дело 547о6о9 под7ото6к8 6 
оG=о9 DоD<е о5уGе=8O 8 пD8E64864е<4O к64л8D8к4F8O пD86одOтEO 6 &45л8Fе 1. 
 

&45л8F4 1 

 



'Dо6е=L о5D47о64=8O, 
=ео5Eод8<K9 длO пD8е<4 =4 

о5уGе=8е по ��!!� 

�48<е=о64=8е 
к64л8D8к4F88 547о6о9 

под7ото6к8 

!Dок полуGе=8O !�О по ��!!� 547о6о9 
под7ото6к8 6 оG=о9 DоD<е о5уGе=8O 

<1> 

EDед=ее о5Iее о5D47о64=8е 

�куHеDк4/�куHеD 

2 7од4 10 <еEOFе6 

оE=о6=ое о5Iее 
о5D47о64=8е 

3 7од4 10 <еEOFе6 <2> 

 

-------------------------------- 

<1> �е7468E8<о от пD8<е=Oе<KE о5D47о64телL=KE теE=оло789. 

<2> О5D47о64телL=Kе оD74=874F88, оEуIеEт6лONI8е под7ото6ку EпеF84л8Eто6 EDед=е7о 76е=4 =4 547е оE=о6=о7о о5Iе7о о5D47о64=8O, Dе4л87уNт 
DедеD4лL=K9 7оEуд4DEт6е==K9 о5D47о64телL=K9 Eт4=д4Dт EDед=е7о о5Iе7о о5D47о64=8O 6 пDедел4E ��!!�, 6 то< G8Eле E уGето< полуG4е<о9 
EпеF84лL=оEт8 !�О. 
 

3.3. !Dок8 полуGе=8O !�О по ��!!� у7лу5ле==о9 под7ото6к8 пDе6KH4Nт =4 од8= 7од EDок полуGе=8O !�О по ��!!� 547о6о9 под7ото6к8. 

!Dок8 полуGе=8O !�О по ��!!� у7лу5ле==о9 под7ото6к8 6 оG=о9 DоD<е о5уGе=8O 8 пD8E64864е<4O к64л8D8к4F8O пD86одOтEO 6 &45л8Fе 2. 
 

&45л8F4 2 

 

'Dо6е=L о5D47о64=8O, 
=ео5Eод8<K9 длO пD8е<4 =4 

о5уGе=8е по ��!!� 

�48<е=о64=8е 
к64л8D8к4F88 у7лу5ле==о9 

под7ото6к8 

!Dок полуGе=8O !�О по ��!!� 
у7лу5ле==о9 под7ото6к8 6 оG=о9 DоD<е 

о5уGе=8O <1> 

EDед=ее о5Iее о5D47о64=8е 

�куHеDк4/�куHеD 

3 7од4 10 <еEOFе6 

оE=о6=ое о5Iее 
о5D47о64=8е 

4 7од4 10 <еEOFе6 <2> 



 

-------------------------------- 

<1> �е7468E8<о от пD8<е=Oе<KE о5D47о64телL=KE теE=оло789. 

<2> О5D47о64телL=Kе оD74=874F88, оEуIеEт6лONI8е под7ото6ку EпеF84л8Eто6 EDед=е7о 
76е=4 =4 547е оE=о6=о7о о5Iе7о о5D47о64=8O, Dе4л87уNт DедеD4лL=K9 7оEуд4DEт6е==K9 
о5D47о64телL=K9 Eт4=д4Dт EDед=е7о о5Iе7о о5D47о64=8O 6 пDедел4E ��!!�, 6 то< G8Eле E уGето< 
полуG4е<о9 EпеF84лL=оEт8 !�О. 
 

!Dок8 полуGе=8O !�О по ��!!� 547о6о9 8 у7лу5ле==о9 под7ото6к8 =е7468E8<о от 
пD8<е=Oе<KE о5D47о64телL=KE теE=оло789 у6ел8G864NтEO длO 8=64л8до6 8 л8F E о7D4=8Gе==K<8 
6о7<о6=оEтO<8 7доDо6LO - =е 5олее Gе< =4 10 <еEOFе6. 
 

IV. %� �К&� �!&�К� � О$�!!�О��Л0�О� 

��/&�Л0�О!&� �/�'!К��КО� 

 

4.1. О5л4EтL пDоDеEE8о=4лL=о9 деOтелL=оEт8 6KпуEк=8ко6: ок474=8е 4куHеDEко-

78=еколо78GеEко9 по<оI8 6 уGDе6де=8OE 7дD46ооED4=е=8O. 

4.2. О5Jект4<8 пDоDеEE8о=4лL=о9 деOтелL=оEт8 6KпуEк=8ко6 O6лONтEO: 

6е=I8=K 6 D47л8G=Kе пеD8одK 687=8; 

=о6оDо6де==Kе; 

Eе<LO; 

<ед8F8=Eк4O доку<е=т4F8O; 

8=EтDу<е=т4D89, <ед8к4<е=тK, 4пп4D4туD4; 

пеD68G=Kе тDудо6Kе коллект86K. 

4.3. �куHеDк4/�куHеD (547о6о9 под7ото6к8) 7ото68тEO к EледуNI8< 68д4< деOтелL=оEт8: 

4.3.1. �ед8F8=Eк4O 8 <ед8ко-EоF84лL=4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 
D878оло78GеEко< теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

4.3.2. �ед8F8=Eк4O по<оIL 5еDе<е==K< 8 детO< пD8 745оле64=8OE, отD46ле=8OE 8 
тD46<4E; 

4.3.3. �ед8F8=Eк4O по<оIL 6е=I8=е E 78=еколо78GеEк8<8 745оле64=8O<8 6 D47л8G=Kе 
пеD8одK 687=8. 

4.3.4. �ед8F8=Eк4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 п4толо78GеEко< 
теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

4.3.5. �Kпол=е=8е D45от по од=о9 8л8 =еEколLк8< пDоDеEE8O< D45оG8E, дол6=оEтO< 
Eлу64I8E (пD8ло6е=8е к =4EтоOIе<у $�О! !�О). 

4.4. �куHеDк4/�куHеD (у7лу5ле==о9 под7ото6к8) 7ото68тEO к EледуNI8< 68д4< 
деOтелL=оEт8: 

4.4.1. �ед8F8=Eк4O 8 <ед8ко-EоF84лL=4O по<оIL 6е=I8=е, =о6оDо6де==о<у 8 Eе<Lе пD8 
D878оло78GеEко< теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 



4.4.2. �ед8F8=Eк4O по<оIL 5еDе<е==K< 8 детO< пD8 745оле64=8OE, отD46ле=8OE 8 
тD46<4E. 

4.4.3. �ед8F8=Eк4O по<оIL 6е=I8=е E 78=еколо78GеEк8<8 745оле64=8O<8 6 D47л8G=Kе 
пеD8одK 687=8. 

4.4.4. �ед8F8=Eк4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 п4толо78GеEко< 
теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

4.4.5. �KEокотеE=оло78G=4O <ед8F8=Eк4O по<оIL 5еDе<е==K<, Dо6е=8F4<, Dод8лL=8F4< 
8 =о6оDо6де==K<. 

4.4.6. ОD74=874F8O 8 упD46ле=8е пеDEо=4ло< 4куHеDEко-78=еколо78GеEко9 Eлу65K 6 
уGDе6де=8OE 7дD46ооED4=е=8O. 

4.4.7. �Kпол=е=8е D45от по од=о9 8л8 =еEколLк8< пDоDеEE8O< D45оG8E, дол6=оEтO< 
Eлу64I8E (пD8ло6е=8е к =4EтоOIе<у $�О! !�О). 
 

V. & ��О����/ К  ��'Л0&�&�� О!�О���/ � О� ���/ �О��О&О�К� 

!��&��Л�!&О� ! �����О ����� 

 

5.1. �куHеDк4/�куHеD (547о6о9 под7ото6к8) дол6е= о5л4д4тL о5I8<8 ко<пете=F8O<8, 
6клNG4NI8<8 6 Eе5O EпоEо5=оEтL: 

ОК 1. �о=8<4тL EуI=оEтL 8 EоF84лL=уN 7=4G8<оEтL 5удуIе9 пDоDеEE88, пDоO6лOтL к =е9 
уEто9G86K9 8=теDеE. 

ОК 2. ОD74=87о6K64тL Eо5Eт6е==уN деOтелL=оEтL, 6K58D4тL т8по6Kе <етодK 8 EпоEо5K 
6Kпол=е=8O пDоDеEE8о=4лL=KE 74д4G, оFе=864тL 8E MDDект86=оEтL 8 к4GеEт6о. 

ОК 3. �D8=8<4тL DеHе=8O 6 Eт4=д4Dт=KE 8 =еEт4=д4Dт=KE E8ту4F8OE, =еEт8 74 =8E 
от6етEт6е==оEтL. 

ОК 4. ОEуIеEт6лOтL по8Eк 8 8EполL7о64=8е 8=DоD<4F88, =ео5Eод8<о9 длO MDDект86=о7о 
6Kпол=е=8O пDоDеEE8о=4лL=KE 74д4G, пDоDеEE8о=4лL=о7о 8 л8G=оEт=о7о D4768т8O. 

ОК 5. �EполL7о64тL 8=DоD<4F8о==о-ко<<у=8к4F8о==Kе теE=оло788 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8. 

ОК 6.  45от4тL 6 коллект86е 8 ко<4=де, MDDект86=о о5I4тLEO E колле74<8, Dуко6одEт6о<, 
потDе58телO<8. 

ОК 7. �D4тL =4 Eе5O от6етEт6е==оEтL 74 D45оту подG8=е==KE Gле=о6 ко<4=дK 8 Dе7улLт4т 
6Kпол=е=8O 74д4=89. 

ОК 8. !4<оEтоOтелL=о опDеделOтL 74д4G8 пDоDеEE8о=4лL=о7о 8 л8G=оEт=о7о D4768т8O, 
74=8<4тLEO E4<оо5D47о64=8е<, пл4=8Dо64тL по6KHе=8е к64л8D8к4F88. 

ОК 9. ОD8е=т8Dо64тLEO 6 уEло68OE G4Eто9 E<е=K теE=оло789 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8. 

ОК 10. �еDе6=о от=оE8тLEO к 8EтоD8GеEко<у =4Eлед8N 8 кулLтуD=K< тD4д8F8O< =4Dод4, 
у6464тL EоF84лL=Kе, кулLтуD=Kе 8 Dел878о7=Kе D47л8G8O. 

ОК 11. �KтL 7ото6K< 5D4тL =4 Eе5O =D46Eт6е==Kе о5O74телLEт64 по от=оHе=8N к пD8Dоде, 
о5IеEт6у 8 Gело6еку. 



ОК 12. ОD74=87о6K64тL D45оGее <еEто E Eо5лNде=8е< тDе5о64=89 оED4=K тDуд4, 
пDо876одEт6е==о9 E4=8т4D88, 8=DекF8о==о9 8 пDот86опо64D=о9 5е7оп4E=оEт8. 

ОК 13. �еEт8 7доDо6K9 о5D47 687=8, 74=8<4тLEO D878GеEко9 кулLтуDо9 8 EпоDто< длO 
укDепле=8O 7доDо6LO, доEт86е=8O 687=е==KE 8 пDоDеEE8о=4лL=KE Fеле9. 

5.2. �куHеDк4/�куHеD (547о6о9 под7ото6к8) дол6е= о5л4д4тL пDоDеEE8о=4лL=K<8 
ко<пете=F8O<8, Eоот6етEт6уNI8<8 68д4< деOтелL=оEт8: 

5.2.1. �ед8F8=Eк4O 8 <ед8ко-EоF84лL=4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 
D878оло78GеEко< теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

�К 1.1. �Dо6од8тL д8Eп4=EеD874F8N 8 п4тDо=46 5еDе<е==KE 8 Dод8лL=8F. 

�К 1.2. �Dо6од8тL D878опE8EопDоD8л4кт8GеEкуN под7ото6ку 5еDе<е==KE к Dод4<, 
о5уGе=8е <еD4< пDоD8л4кт8к8 оEло6=е=89 5еDе<е==оEт8, Dодо6 8 поEлеDодо6о7о пеD8од4. 

�К 1.3. Ок47K64тL леGе5=о-д847=оEт8GеEкуN по<оIL пD8 D878оло78GеEко9 5еDе<е==оEт8, 
Dод4E 8 6 поEлеDодо6о< пеD8оде. 

�К 1.4. Ок47K64тL 4куHеDEкое поEо58е пD8 D878оло78GеEк8E Dод4E. 

�К 1.5. �Dо6од8тL пеD68G=K9 ту4лет =о6оDо6де==о7о, оFе=864тL 8 ко=тDол8Dо64тL 
д8=4<8ку е7о EоEтоO=8O, оEуIеEт6лOтL уEод 8 о5уG4тL Dод8теле9 уEоду 74 =о6оDо6де==K<. 

�К 1.6. �D8<е=OтL лек4DEт6е==Kе EDедEт64 по =47=4Gе=8N 6D4G4. 

�К 1.7. �=DоD<8Dо64тL п4F8е=то6 по 6опDоE4< оED4=K <4теD8=Eт64 8 детEт64, 
<ед8F8=Eко7о EтD4Eо64=8O. 

5.2.2. �ед8F8=Eк4O по<оIL 5еDе<е==K< 8 детO< пD8 745оле64=8OE, отD46ле=8OE 8 
тD46<4E. 

�К 2.1. �Dо6од8тL леGе5=о-д847=оEт8GеEкуN, пDоD8л4кт8GеEкуN, E4=8т4D=о-

пDоE6ет8телLEкуN D45оту E п4F8е=т4<8 E MкEтD47е=8т4лL=о9 п4толо78е9 под Dуко6одEт6о< 6D4G4. 

�К 2.2. �KO6лOтL D878GеEк8е 8 пE8E8GеEк8е откло=е=8O 6 D4768т88 Dе5е=к4, оEуIеEт6лOтL 
уEод, леGе5=о-д847=оEт8GеEк8е, пDоD8л4кт8GеEк8е <еDопD8Oт8O детO< под Dуко6одEт6о< 6D4G4. 

�К 2.3. Ок47K64тL до6D4Gе5=уN по<оIL пD8 оEтDKE 745оле64=8OE, =еEG4Eт=KE EлуG4OE, 
GDе76KG49=KE E8ту4F8OE 8 6 уEло68OE Mп8де<88. 

5.2.3. �ед8F8=Eк4O по<оIL 6е=I8=е E 78=еколо78GеEк8<8 745оле64=8O<8 6 D47л8G=Kе 
пеD8одK 687=8. 

�К 3.1. �Dо6од8тL пDоD8л4кт8GеEк8е оE<отDK 8 д8Eп4=EеD874F8N 6е=I8= 6 D47л8G=Kе 
пеD8одK 687=8. 

�К 3.2. �Dо6од8тL леGе5=о-д847=оEт8GеEк8е <еDопD8Oт8O 78=еколо78GеEк8< 5олL=K< под 
Dуко6одEт6о< 6D4G4. 

�К 3.3. �Kпол=OтL д847=оEт8GеEк8е <4=8пулOF88 E4<оEтоOтелL=о 6 пDедел4E E6о8E 
пол=о<оG89. 

�К 3.4. Ок47K64тL до6D4Gе5=уN по<оIL п4F8е=т4< пD8 =еотло6=KE EоEтоO=8OE 6 
78=еколо788. 



�К 3.5. 'G4Eт6о64тL 6 ок474=88 по<оI8 п4F8е=т4< 6 пеD8опеD4т86=о< пеD8оде. 

�К 3.6. �Dо6од8тL E4=8т4D=о-пDоE6ет8телLEкуN D45оту по 6опDоE4< пл4=8Dо64=8O Eе<L8, 
EоED4=е=8O 8 укDепле=8O DепDодукт86=о7о 7доDо6LO. 

5.2.4. �ед8F8=Eк4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 п4толо78GеEко< 
теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

�К 4.1. 'G4Eт6о64тL 6 пDо6еде=88 леGе5=о-д847=оEт8GеEк8E <еDопD8Oт89 5еDе<е==о9, 
Dо6е=8Fе, Dод8лL=8Fе E 4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо78е9 8 =о6оDо6де==о<у. 

�К 4.2. Ок47K64тL пDоD8л4кт8GеEкуN 8 <ед8ко-EоF84лL=уN по<оIL 5еDе<е==о9, 
Dо6е=8Fе, Dод8лL=8Fе пD8 4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо788. 

�К 4.3. Ок47K64тL до6D4Gе5=уN по<оIL 5еDе<е==о9, Dо6е=8Fе, Dод8лL=8Fе пD8 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо788. 

�К 4.4. ОEуIеEт6лOтL 8=те=E86=K9 уEод пD8 4куHеDEко9 п4толо788. 

�К 4.5. 'G4Eт6о64тL 6 ок474=88 по<оI8 п4F8е=т4< 6 пеD8опеD4т86=о< пеD8оде. 

5.2.5. �Kпол=е=8е D45от по од=о9 8л8 =еEколLк8< пDоDеEE8O< D45оG8E, дол6=оEтO< 
Eлу64I8E. 

5.3. �куHеDк4/�куHеD (у7лу5ле==о9 под7ото6к8) дол6е= о5л4д4тL о5I8<8 ко<пете=F8O<8, 
6клNG4NI8<8 6 Eе5O EпоEо5=оEтL: 

ОК 1. �о=8<4тL EуI=оEтL 8 EоF84лL=уN 7=4G8<оEтL 5удуIе9 пDоDеEE88, пDоO6лOтL к =е9 
уEто9G86K9 8=теDеE. 

ОК 2. ОD74=87о6K64тL Eо5Eт6е==уN деOтелL=оEтL, 6K58D4тL т8по6Kе <етодK 8 EпоEо5K 
6Kпол=е=8O пDоDеEE8о=4лL=KE 74д4G, оFе=864тL 8E MDDект86=оEтL 8 к4GеEт6о. 

ОК 3. �D8=8<4тL DеHе=8O 6 Eт4=д4Dт=KE 8 =еEт4=д4Dт=KE E8ту4F8OE 8 =еEт8 74 =8E 
от6етEт6е==оEтL. 

ОК 4. ОEуIеEт6лOтL по8Eк 8 8EполL7о64=8е 8=DоD<4F88, =ео5Eод8<о9 длO MDDект86=о7о 
6Kпол=е=8O пDоDеEE8о=4лL=KE 74д4G, пDоDеEE8о=4лL=о7о 8 л8G=оEт=о7о D4768т8O. 

ОК 5. �EполL7о64тL 8=DоD<4F8о==о-ко<<у=8к4F8о==Kе теE=оло788 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8. 

ОК 6.  45от4тL 6 коллект86е 8 ко<4=де, MDDект86=о о5I4тLEO E колле74<8, Dуко6одEт6о<, 
потDе58телO<8. 

ОК 7. �D4тL =4 Eе5O от6етEт6е==оEтL 74 D45оту подG8=е==KE Gле=о6 ко<4=дK 8 Dе7улLт4т 
6Kпол=е=8O 74д4=89. 

ОК 8. !4<оEтоOтелL=о опDеделOтL 74д4G8 пDоDеEE8о=4лL=о7о 8 л8G=оEт=о7о D4768т8O, 
74=8<4тLEO E4<оо5D47о64=8е<, пл4=8Dо64тL по6KHе=8е к64л8D8к4F88. 

ОК 9. ОD8е=т8Dо64тLEO 6 уEло68OE G4Eто9 E<е=K теE=оло789 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8. 

ОК 10. �еDе6=о от=оE8тLEO к 8EтоD8GеEко<у =4Eлед8N 8 кулLтуD=K< тD4д8F8O< =4Dод4, 
у6464тL EоF84лL=Kе, кулLтуD=Kе 8 Dел878о7=Kе D47л8G8O. 



ОК 11. �KтL 7ото6K< 5D4тL =4 Eе5O =D46Eт6е==Kе о5O74телLEт64 по от=оHе=8N к пD8Dоде, 
о5IеEт6у 8 Gело6еку. 

ОК 12. ОD74=87о6K64тL D45оGее <еEто E Eо5лNде=8е< тDе5о64=89 оED4=K тDуд4, 
пDо876одEт6е==о9 E4=8т4D88, 8=DекF8о==о9 8 пDот86опо64D=о9 5е7оп4E=оEт8. 

ОК 13. �еEт8 7доDо6K9 о5D47 687=8, 74=8<4тLEO D878GеEко9 кулLтуDо9 8 EпоDто< длO 
укDепле=8O 7доDо6LO, доEт86е=8O 687=е==KE 8 пDоDеEE8о=4лL=KE Fеле9. 

5.4. �куHеDк4/�куHеD (у7лу5ле==о9 под7ото6к8) дол6е= о5л4д4тL пDоDеEE8о=4лL=K<8 
ко<пете=F8O<8, Eоот6етEт6уNI8<8 68д4< деOтелL=оEт8: 

5.4.1. �ед8F8=Eк4O 8 <ед8ко-EоF84лL=4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 
D878оло78GеEко< теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

�К 1.1. �Dо6од8тL д8Eп4=EеD874F8N 8 п4тDо=46 5еDе<е==KE, Dод8лL=8F E4<оEтоOтелL=о. 

�К 1.2. �Dо6од8тL D878опE8EопDоD8л4кт8GеEкуN под7ото6ку 5еDе<е==KE к Dод4<, о5уG4тL 
<еD4< пDоD8л4кт8к8 оEло6=е=89 5еDе<е==оEт8, Dодо6 8 поEлеDодо6о7о пеD8од4. 

�К 1.3. Ок47K64тL леGе5=о-д847=оEт8GеEкуN по<оIL пD8 D878оло78GеEко9 5еDе<е==оEт8, 
Dод4E 8 6 поEлеDодо6о< пеD8оде. 

�К 1.4. �D8<е=OтL лек4DEт6е==Kе EDедEт64 по =47=4Gе=8N 6D4G4. 

�К 1.5. ОFе=864тL, ко=тDол8Dо64тL д8=4<8ку EоEтоO=8O =о6оDо6де==о7о 8 оEуIеEт6лOтL 
уEод. 

�К 1.6. О5уG4тL Dод8теле9 уEоду 74 =о6оDо6де==K<. 

�К 1.7. �=DоD<8Dо64тL п4F8е=то6 по 6опDоE4< оED4=K <4теD8=Eт64 8 детEт64, 
<ед8F8=Eко7о EтD4Eо64=8O. 

5.4.2. �ед8F8=Eк4O по<оIL 5еDе<е==K< 8 детO< пD8 745оле64=8OE, отD46ле=8OE 8 
тD46<4E. 

�К 2.1. �Dо6од8тL леGе5=о-д847=оEт8GеEкуN, пDоD8л4кт8GеEкуN, E4=8т4D=о-

пDоE6ет8телLEкуN D45оту E п4F8е=т4<8 E MкEтD47е=8т4лL=о9 п4толо78е9 под Dуко6одEт6о< 6D4G4. 

�К 2.2. �KO6лOтL D878GеEк8е 8 пE8E8GеEк8е откло=е=8O 6 D4768т88 Dе5е=к4, оEуIеEт6лOтL 
уEод, леGе5=о-д847=оEт8GеEк8е, пDоD8л4кт8GеEк8е <еDопD8Oт8O детO< под Dуко6одEт6о< 6D4G4. 

�К 2.3. Ок47K64тL до6D4Gе5=уN по<оIL пD8 оEтDKE 745оле64=8OE, =еEG4Eт=KE EлуG4OE, 
GDе76KG49=KE E8ту4F8OE 8 6 уEло68OE Mп8де<88. 

�К 2.4. О5уG4тL =4Eеле=8е пD8е<4< ок474=8O пеD6о9 <ед8F8=Eко9 по<оI8. 

5.4.3. �ед8F8=Eк4O по<оIL 6е=I8=е E 78=еколо78GеEк8<8 745оле64=8O<8 6 D47л8G=Kе 
пеD8одK 687=8. 

�К 3.1. �Dо6од8тL пDоD8л4кт8GеEк8е оE<отDK 8 д8Eп4=EеD874F8N 6е=I8= 6 D47л8G=Kе 
пеD8одK 687=8. 

�К 3.2. �Dо6од8тL леGе5=о-д847=оEт8GеEк8е <еDопD8Oт8O 78=еколо78GеEк8< 5олL=K< под 
Dуко6одEт6о< 6D4G4. 

�К 3.3. �Kпол=OтL д847=оEт8GеEк8е <4=8пулOF88 E4<оEтоOтелL=о, 6 пDедел4E E6о8E 



пол=о<оG89. 

�К 3.4. Ок47K64тL пDоD8л4кт8GеEкуN по<оIL 78=еколо78GеEк8< 5олL=K< E4<оEтоOтелL=о. 

�К 3.5. Ок47K64тL до6D4Gе5=уN по<оIL п4F8е=т4< пD8 =еотло6=KE EоEтоO=8OE 6 
78=еколо788. 

�К 3.6. Ок47K64тL по<оIL п4F8е=т4< 6 пеD8опеD4т86=о< пеD8оде. 

�К 3.7. �Dо6од8тL E4=8т4D=о-пDоE6ет8телLEкуN D45оту по 6опDоE4< пл4=8Dо64=8O Eе<L8, 
EоED4=е=8O 8 укDепле=8O DепDодукт86=о7о 7доDо6LO. 

5.4.4. �ед8F8=Eк4O по<оIL 6е=I8=е, =о6оDо6де==о<у, Eе<Lе пD8 п4толо78GеEко< 
теGе=88 5еDе<е==оEт8, Dодо6, поEлеDодо6о7о пеD8од4. 

�К 4.1. �Dо6од8тL леGе5=о-д847=оEт8GеEк8е <еDопD8Oт8O 5еDе<е==о9, Dо6е=8Fе, 
Dод8лL=8Fе E 4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо78е9 под Dуко6одEт6о< 6D4G4. 

�К 4.2. Ок47K64тL пDоD8л4кт8GеEкуN 8 <ед8ко-EоF84лL=уN по<оIL 5еDе<е==о9, 
Dо6е=8Fе, Dод8лL=8Fе пD8 4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо788. 

�К 4.3. Ок47K64тL до6D4Gе5=уN по<оIL 5еDе<е==о9, Dо6е=8Fе, Dод8лL=8Fе пD8 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 п4толо788. 

�К 4.4. ОEуIеEт6лOтL 8=те=E86=K9 уEод пD8 4куHеDEко9 п4толо788. 

�К 4.5. �EE8Eт8Dо64тL 6D4Gу 8 6Kпол=OтL 4куHеDEк8е опеD4F88 6 пDедел4E E6о8E 
пол=о<оG89. 

�К 4.6. Ок47K64тL по<оIL 6 пеD8опеD4т86=о< пеD8оде. 

�К 4.7. О5уG4тL п4F8е=то6 8 Gле=о6 Eе<L8 =46Kк4< E4<оуEод4 8 уEод4 6 
поEлеопеD4F8о==о< пеD8оде. 

5.4.5. �KEокотеE=оло78G=4O по<оIL 5еDе<е==K<, Dо6е=8F4<, Dод8лL=8F4< 8 
=о6оDо6де==K<. 

�К 5.1. 'G4Eт6о64тL 6 D4==е9 д847=оEт8ке п4толо788 DепDодукт86=о9 Dу=кF88. 

�К 5.2. 'G4Eт6о64тL 6 ок474=88 6KEокотеE=оло78G=о9 <ед8F8=Eко9 по<оI8 5еDе<е==K<, 
Dо6е=8F4<, Dод8лL=8F4< 87 7Dупп 6KEоко9 Eтепе=8 D8Eк4 8 =о6оDо6де==K<. 

�К 5.3. 'G4Eт6о64тL 6 пDо6еде=88 =ео=4т4лL=о7о 8 4уд8оло78GеEко7о EкD8=8=74. 

�К 5.4. 'G4Eт6о64тL 6 D47D45отке пDоD8л4кт8GеEк8E пDо7D4<< E FелLN E=86е=8O 
<4теD8=Eко9 8 пеD8=4т4лL=о9 745оле64е<оEт8 8 E<еDт=оEт8. 

5.4.6. ОD74=874F8O 8 упD46ле=8е пеDEо=4ло< 4куHеDEко-78=еколо78GеEко9 Eлу65K 
уGDе6де=89 7дD46ооED4=е=8O. 

�К 6.1. Ко=тDол8Dо64тL к4GеEт6о 8 MDDект86=оEтL ок474=8O 4куHеDEко-78=еколо78GеEко9 
по<оI8. 

�К 6.2.  45от4тL E оD74=874F8о==о-D4EпоDOд8телL=о9 доку<е=т4F8е9. 

�К 6.3. ОEуIеEт6лOтL ко=тDолL деOтелL=оEт8 EDед=е7о 8 <л4дHе7о <ед8F8=Eко7о, 
6Eпо<о74телL=о7о 8 теE=8GеEко7о пеDEо=4л4. 



�К 6.4. �еEт8 уGет 8 D4F8о=4лL=о 8EполL7о64тL <4теD84лL=Kе Fе==оEт8 уGDе6де=8O 
7дD46ооED4=е=8O (EтDуктуD=о7о подD47деле=8O). 

�К 6.5. ОD74=87о6K64тL =4дле64I89 D4D<4коло78GеEк89 поDOдок 6 уGDе6де=88 
7дD46ооED4=е=8O (EтDуктуD=о< подD47деле=88). 

�К 6.6. �л4=8Dо64тL 8 оD74=87о6K64тL D45оту по по6KHе=8N к64л8D8к4F88 EDед=е7о 
<ед8F8=Eко7о пеDEо=4л4. 

5.4.7. �Kпол=е=8е D45от по од=о9 8л8 =еEколLк8< пDоDеEE8O< D45оG8E, дол6=оEтO< 
Eлу64I8E. 
 

VI. & ��О����/ К !& 'К&' � � О� ���/ �О��О&О�К� 

!��&��Л�!&О� ! �����О ����� 

 

6.1. ��!!� пDедуE<4тD864ет 87уGе=8е EледуNI8E уGе5=KE F8кло6: 

о5Iе7о 7у<4=8т4D=о7о 8 EоF84лL=о-Mко=о<8GеEко7о; 

<4те<4т8GеEко7о 8 о5Iе7о еEтеEт6е==о=4уG=о7о; 

пDоDеEE8о=4лL=о7о; 

8 D47дело6: 

уGе5=4O пD4кт8к4; 

пDо876одEт6е==4O пD4кт8к4 (по пDоD8лN EпеF84лL=оEт8); 

пDо876одEт6е==4O пD4кт8к4 (пDедд8пло<=4O); 

пDо<е6утоG=4O 4ттеEт4F8O; 

7оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O. 

6.2. О5O74телL=4O G4EтL ��!!� по уGе5=K< F8кл4< дол6=4 EоEт46лOтL около 70 пDоFе=то6 
от о5Iе7о о5Jе<4 6Dе<е=8, от6еде==о7о =4 8E оE6ое=8е. �4D84т86=4O G4EтL (около 30 пDоFе=то6) 
д4ет 6о7<о6=оEтL D4EH8Dе=8O 8 (8л8) у7лу5ле=8O под7ото6к8, опDеделOе<о9 EодеD64=8е< 
о5O74телL=о9 G4Eт8, полуGе=8O допол=8телL=KE ко<пете=F89, у<е=89 8 7=4=89, =ео5Eод8<KE 
длO о5еEпеGе=8O ко=куDе=тоEпоEо5=оEт8 6KпуEк=8к4 6 Eоот6етEт688 E 74пDоE4<8 Dе78о=4лL=о7о 
DK=к4 тDуд4 8 6о7<о6=оEтO<8 пDодол6е=8O о5D47о64=8O. �8EF8пл8=K, <е6д8EF8пл8=4D=Kе 
куDEK 8 пDоDеEE8о=4лL=Kе <одул8 64D84т86=о9 G4Eт8 опDеделONтEO о5D47о64телL=о9 
оD74=874F8е9. 

О5I89 7у<4=8т4D=K9 8 EоF84лL=о-Mко=о<8GеEк89, <4те<4т8GеEк89 8 о5I89 
еEтеEт6е==о=4уG=K9 уGе5=Kе F8клK EоEтоOт 87 д8EF8пл8=. 

�DоDеEE8о=4лL=K9 уGе5=K9 F8кл EоEто8т 87 о5IепDоDеEE8о=4лL=KE д8EF8пл8= 8 
пDоDеEE8о=4лL=KE <одуле9 6 Eоот6етEт688 E 68д4<8 деOтелL=оEт8. � EоEт46 пDоDеEE8о=4лL=о7о 
<одулO 6Eод8т од8= 8л8 =еEколLко <е6д8EF8пл8=4D=KE куDEо6. �D8 оE6ое=88 о5уG4NI8<8EO 
пDоDеEE8о=4лL=KE <одуле9 пDо6одOтEO уGе5=4O 8 (8л8) пDо876одEт6е==4O пD4кт8к4 (по пDоD8лN 
EпеF84лL=оEт8). 

6.3. О5O74телL=4O G4EтL о5Iе7о 7у<4=8т4D=о7о 8 EоF84лL=о-Mко=о<8GеEко7о уGе5=о7о F8кл4 
��!!� 547о6о9 под7ото6к8 дол6=4 пDедуE<4тD864тL 87уGе=8е EледуNI8E о5O74телL=KE 
д8EF8пл8=: "ОE=о6K D8лоEоD88", "�EтоD8O", "�=оEтD4==K9 O7Kк", "$878GеEк4O кулLтуD4"; 
у7лу5ле==о9 под7ото6к8 - "ОE=о6K D8лоEоD88", "�EтоD8O", "�E8Eоло78O о5Iе=8O", "�=оEтD4==K9 



O7Kк", "$878GеEк4O кулLтуD4". 

О5O74телL=4O G4EтL пDоDеEE8о=4лL=о7о уGе5=о7о F8кл4 ��!!� к4к 547о6о9, т4к 8 
у7лу5ле==о9 под7ото6к8 дол6=4 пDедуE<4тD864тL 87уGе=8е д8EF8пл8=K "�е7оп4E=оEтL 
687=едеOтелL=оEт8". О5Jе< G4Eо6 =4 д8EF8пл8=у "�е7оп4E=оEтL 687=едеOтелL=оEт8" EоEт46лOет 
68 G4Eо6, 87 =8E =4 оE6ое=8е оE=о6 6ое==о9 Eлу65K - 48 G4Eо6. 

6.4. О5D47о64телL=о9 оD74=874F8е9 пD8 опDеделе=88 EтDуктуDK ��!!� 8 тDудое<коEт8 ее 
оE6ое=8O <о6ет пD8<е=OтLEO E8Eте<4 74Gет=KE ед8=8F, пD8 Mто< од=4 74Gет=4O ед8=8F4 
Eоот6етEт6ует 36 4к4де<8GеEк8< G4E4<. 
 

&45л8F4 3 

 

!тDуктуD4 пDо7D4<<K под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 

547о6о9 под7ото6к8 

 



�=декE �48<е=о64=8е уGе5=KE F8кло6, 
D47дело6, <одуле9, тDе5о64=8O к 
7=4=8O<, у<е=8O<, пD4кт8GеEко<у 

опKту 

�Eе7о 
<4кE8<4лL=о9 

уGе5=о9 =47Dу7к8 
о5уG4NIе7оEO 
(G4E./=ед.) 

� то< G8Eле 
G4Eо6 

о5O74телL=KE 
уGе5=KE 74=Oт89 

�=декE 8 =48<е=о64=8е 
д8EF8пл8=, 

<е6д8EF8пл8=4D=KE куDEо6 
(��К) 

КодK 
DоD<8Dуе<KE 
ко<пете=F89 

 О5O74телL=4O G4EтL уGе5=KE F8кло6 
��!!� 

3240 2160   

О�!1.00 О5I89 7у<4=8т4D=K9 8 EоF84лL=о-

Mко=о<8GеEк89 уGе5=K9 F8кл 

660 440   

� Dе7улLт4те 87уGе=8O о5O74телL=о9 
G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
дол6е=: 
у<етL: 
оD8е=т8Dо64тLEO 6 о5I8E 
D8лоEоDEк8E пDо5ле<4E 5Kт8O, 
по7=4=8O, Fе==оEте9, E6о5одK 8 
E<KEл4 687=8 к4к оE=о64E 
DоD<8Dо64=8O кулLтуDK 7D46д4=8=4 
8 5удуIе7о EпеF84л8Eт4; 
7=4тL: 
оE=о6=Kе к4те7оD88 8 по=Oт8O 
D8лоEоD88; 
DолL D8лоEоD88 6 687=8 Gело6ек4 8 
о5IеEт64; 
оE=о6K D8лоEоDEко7о уGе=8O о 
5Kт88; 
EуI=оEтL пDоFеEE4 по7=4=8O; 
оE=о6K =4уG=о9, D8лоEоDEко9 8 
Dел878о7=о9 к4Dт8= <8D4; 
о5 уEло68OE DоD<8Dо64=8O 
л8G=оEт8, о E6о5оде 8 

 48 О�!1.01. ОE=о6K D8лоEоD88 ОК 1 - 13 



от6етEт6е==оEт8 74 EоED4=е=8е 
687=8, кулLтуDK, окDу64NIе9 
EDедK; 
о EоF84лL=KE 8 Mт8GеEк8E 
пDо5ле<4E, E6O74==KE E D4768т8е< 8 
8EполL7о64=8е< доEт86е=89 =4ук8, 
теE=8к8 8 теE=оло789; 

у<етL: 
оD8е=т8Dо64тLEO 6 Eо6Dе<е==о9 
Mко=о<8GеEко9, пол8т8GеEко9 8 
кулLтуD=о9 E8ту4F88 6  оEE88 8 
<8Dе; 
6KO6лOтL 6748<оE6O7L 
отеGеEт6е==KE, Dе78о=4лL=KE, 
<8Dо6KE EоF84лL=о-Mко=о<8GеEк8E, 
пол8т8GеEк8E 8 кулLтуD=KE пDо5ле<; 
7=4тL: 
оE=о6=Kе =4пD46ле=8O D4768т8O 
клNGе6KE Dе78о=о6 <8D4 =4 Dу5е6е 
6еко6 (XX 8 XXI 66.); 
EуI=оEтL 8 пD8G8=K лок4лL=KE, 
Dе78о=4лL=KE, <е67оEуд4DEт6е==KE 
ко=Dл8кто6 6 ко=Fе XX - =4G4ле XXI 
66.; 
оE=о6=Kе пDоFеEEK 
(8=те7D4F8о==Kе, пол8кулLтуD=Kе, 
<87D4F8о==Kе 8 8=Kе) 
пол8т8GеEко7о 8 Mко=о<8GеEко7о 
D4768т8O 6едуI8E 7оEуд4DEт6 8 
Dе78о=о6 <8D4; 
=47=4Gе=8е ОО�, ��&О, �! 8 дDу78E 
оD74=874F89 8 оE=о6=Kе 
=4пD46ле=8O 8E деOтелL=оEт8; 

 48 О�!1.02. �EтоD8O ОК 1 - 13 



о Dол8 =4ук8, кулLтуDK 8 Dел8788 6 
EоED4=е=88 8 укDепле=88 
=4F8о=4лL=KE 8 7оEуд4DEт6е==KE 
тD4д8F89; 
EодеD64=8е 8 =47=4Gе=8е 
646=е9H8E 74ко=од4телL=KE 8 8=KE 
=оD<4т86=KE пD46о6KE 4кто6 
<8Dо6о7о 8 Dе78о=4лL=о7о 7=4Gе=8O; 

у<етL: 
о5I4тLEO уEт=о 8 п8EL<е==о =4 
8=оEтD4==о< O7Kке =4 
пDоDеEE8о=4лL=Kе 8 по6Eед=е6=Kе 
те<K; 
пеDе6од8тL Eо Eло64Dе< 
8=оEтD4==Kе текEтK 
пDоDеEE8о=4лL=о9 =4пD46ле==оEт8; 
E4<оEтоOтелL=о Eо6еDHе=Eт6о64тL 
уEт=уN 8 п8EL<е==уN DеGL, 
попол=OтL Eло64D=K9 74п4E; 
7=4тL: 
лекE8GеEк89 (1200 - 1400 

лекE8GеEк8E ед8=8F) 8 
7D4<<4т8GеEк89 <8=8<у<, 
=ео5Eод8<K9 длO Gте=8O 8 пеDе6од4 
Eо Eло64Dе< 8=оEтD4==KE текEто6 
пDоDеEE8о=4лL=о9 =4пD46ле==оEт8; 

 172 О�!1.03. �=оEтD4==K9 O7Kк ОК 1 - 13 

�К 1.1 - 1.7 

2.1, 3.6, 

4.1 - 4.5 

у<етL: 
8EполL7о64тL D87кулLтуD=о-

о7доDо68телL=уN деOтелL=оEтL длO 
укDепле=8O 7доDо6LO, доEт86е=8O 
687=е==KE 8 пDоDеEE8о=4лL=KE 
Fеле9; 

344 172 О�!1.04. $878GеEк4O кулLтуD4 ОК 1 - 13 



7=4тL: 
о Dол8 D878GеEко9 кулLтуDK 6 
о5IекулLтуD=о<, пDоDеEE8о=4лL=о< 
8 EоF84лL=о< D4768т88 Gело6ек4; 
оE=о6K 7доDо6о7о о5D474 687=8. 

��.00 �4те<4т8GеEк89 8 о5I89 
еEтеEт6е==о=4уG=K9 уGе5=K9 F8кл 

122 82   

� Dе7улLт4те 87уGе=8O о5O74телL=о9 
G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
дол6е=: 
у<етL: 
DеH4тL пD8кл4д=Kе 74д4G8 6 о5л4Eт8 
пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
7=4тL: 
7=4Gе=8е <4те<4т8к8 6 
пDоDеEE8о=4лL=о9 деOтелL=оEт8 8 
пD8 оE6ое=88 ��!!�; 
оE=о6=Kе <4те<4т8GеEк8е <етодK 
DеHе=8O пD8кл4д=KE 74д4G 6 
о5л4Eт8 пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
оE=о6=Kе по=Oт8O 8 <етодK теоD88 
6еDоOт=оEте9 8 <4те<4т8GеEко9 
Eт4т8Eт8к8; 
оE=о6K 8=те7D4лL=о7о 8 
д8DDеDе=F84лL=о7о 8EG8Eле=8O; 

  ��.01. �4те<4т8к4 ОК 1 - 4, 8 

�К 1.6, 2.6 

у<етL: 
8EполL7о64тL теE=оло788 E5оD4, 
D47<еIе=8O, ED4=е=8O, =4копле=8O, 
пDео5D47о64=8O 8 пеDед4G8 д4==KE 
6 пDоDеEE8о=4лL=о 

  ��.02. �=DоD<4F8о==Kе 
теE=оло788 6 
пDоDеEE8о=4лL=о9 
деOтелL=оEт8 

ОК 3 - 5, 9 

�К 1.1, 1.2, 1.7, 
2.1, 3.1, 3.6 



оD8е=т8Dо64==KE 8=DоD<4F8о==KE 
E8Eте<4E; 
8EполL7о64тL 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8 D47л8G=Kе 68дK 
пDо7D4<<=о7о о5еEпеGе=8O, 6 то< 
G8Eле EпеF84лL=о7о; 
пD8<е=OтL ко<пLNтеD=Kе 8 
телеко<<у=8к4F8о==Kе EDедEт64; 
7=4тL: 
оE=о6=Kе по=Oт8O 
46то<4т878Dо64==о9 о5D45отк8 
8=DоD<4F88; 
о5I89 EоEт46 8 EтDуктуDу 
пеDEо=4лL=KE ко<пLNтеDо6 8 
6KG8Eл8телL=KE E8Eте<; 
EоEт46, Dу=кF88 8 6о7<о6=оEт8 
8EполL7о64=8O 8=DоD<4F8о==KE 8 
телеко<<у=8к4F8о==KE теE=оло789 
6 пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
<етодK 8 EDедEт64 E5оD4, о5D45отк8, 
ED4=е=8O, пеDед4G8 8 =4копле=8O 
8=DоD<4F88; 
547о6Kе E8Eте<=Kе пDо7D4<<=Kе 
пDодуктK 8 п4кетK пD8кл4д=KE 
пDо7D4<< 6 о5л4Eт8 
пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
оE=о6=Kе <етодK 8 пD8е<K 
о5еEпеGе=8O 8=DоD<4F8о==о9 
5е7оп4E=оEт8. 

�.00 �DоDеEE8о=4лL=K9 уGе5=K9 F8кл 2458 1638   

О�.00 О5IепDоDеEE8о=4лL=Kе 
д8EF8пл8=K 

1044 696   



� Dе7улLт4те 87уGе=8O о5O74телL=о9 
G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
по о5IепDоDеEE8о=4лL=K< 
д8EF8пл8=4< дол6е=: 
у<етL: 
пD468лL=о G8т4тL 8 п8E4тL =4 
л4т8=Eко< O7Kке <ед8F8=Eк8е 
(4=4то<8GеEк8е, кл8=8GеEк8е 8 
D4D<4Fе6т8GеEк8е) теD<8=K; 
о5JOE=OтL 7=4Gе=8O теD<8=о6 по 
7=4ко<K< теD<8=оMле<е=т4<; 
пеDе6од8тL DеFептK 8 оDоD<лOтL 8E 
по 74д4==о<у =оD<4т86=о<у 
о5D47Fу; 
7=4тL: 
Mле<е=тK л4т8=Eко9 7D4<<4т8к8 8 
EпоEо5K Eло6оо5D47о64=8O; 
500 лекE8GеEк8E ед8=8F; 
7лоEE4D89 по EпеF84лL=оEт8; 

  О�.01. ОE=о6K л4т8=Eко7о 
O7Kк4 E <ед8F8=Eко9 
теD<8=оло78е9 

ОК 1, 4 - 6, 9 

�К 1.6, 2.3, 
3.1 - 3.6, 

4.1 - 4.5 

у<етL: 
пD8<е=OтL 7=4=8O о EтDое=88 8 
Dу=кF8OE оD74=о6 8 E8Eте< 
оD74=87<4 Gело6ек4 пD8 ок474=88 
4куHеDEко-78=еколо78GеEко9 
по<оI8; 
7=4тL: 
EтDое=8е Gело6еGеEко7о тел4 8 
Dу=кF8о=4лL=Kе E8Eте<K Gело6ек4, 
8E Dе7улOF8N 8 E4<оDе7улOF8N пD8 
6748<оде9Eт688 E 6=еH=е9 EDедо9; 

  О�.02. �=4то<8O 8 
D878оло78O Gело6ек4 

ОК 1 - 4, 13 

�К 1.2, 1.5, 
2.1 - 2.3, 

3.1 - 3.6, 

4.1 - 4.5 

у<етL: 
опDеделOтL пD87=4к8 т8по6KE 

  О�.03. ОE=о6K п4толо788 ОК 1 - 4, 13 

�К 1.1 - 1.3, 



п4толо78GеEк8E пDоFеEEо6 8 
отделL=KE 745оле64=89 6 оD74=87<е 
Gело6ек4; 
7=4тL: 
о5I8е 74ко=о<еD=оEт8 D4768т8O 
п4толо788 клеток, оD74=о6 8 E8Eте< 6 
оD74=87<е Gело6ек4; 
EтDуктуD=о-Dу=кF8о=4лL=Kе 
74ко=о<еD=оEт8 D4768т8O 8 теGе=8O 
т8по6KE п4толо78GеEк8E пDоFеEEо6 8 
отделL=KE 745оле64=89; 

2.1 - 2.3, 

3.1 - 3.5, 

4.1 - 4.5 

у<етL: 
пDо6од8тL опDоE 8 6еEт8 уGет 
п4F8е=то6 E =4EледEт6е==о9 
п4толо78е9; 
пDо6од8тL 5еEедK по пл4=8Dо64=8N 
Eе<L8 E уGето< 8<еNIе9EO 
=4EледEт6е==о9 п4толо788; 
пDо6од8тL пDед64D8телL=уN 
д847=оEт8ку =4EледEт6е==KE 
5оле7=е9; 
7=4тL: 
58оE8<8GеEк8е 8 F8толо78GеEк8е 
оE=о6K =4EледEт6е==оEт8; 
74ко=о<еD=оEт8 =4Eледо64=8O 
пD87=4ко6, 68дK 6748<оде9Eт68O 
7е=о6; 
<етодK 87уGе=8O =4EледEт6е==оEт8 
8 87<е=G86оEт8 Gело6ек4 6 =оD<е 8 
п4толо788; 
оE=о6=Kе 68дK 87<е=G86оEт8, 68дK 
<ут4F89 у Gело6ек4, D4ктоDK 
<ут47е=е74; 

  О�.04. �е=ет8к4 Gело6ек4 E 
оE=о64<8 <ед8F8=Eко9 
7е=ет8к8 

ОК 1 - 4, 8 - 9, 11 

�К 1.1, 2.1, 2.2, 

3.1 - 3.3, 

4.1 



оE=о6=Kе 7DуппK =4EледEт6е==KE 
745оле64=89, пD8G8=K 8 <еE4=87<K 
6о7=8к=о6е=8O; 
Fел8, 74д4G8, <етодK 8 пок474=8O к 
<ед8ко-7е=ет8GеEко<у 
ко=EулLт8Dо64=8N; 

у<етL: 
д464тL E4=8т4D=о-7878е=8GеEкуN 
оFе=ку D4ктоD4< окDу64NIе9 
EDедK; 
пDо6од8тL E4=8т4D=о-7878е=8GеEк8е 
<еDопD8Oт8O по EоED4=е=8N 8 
укDепле=8N 7доDо6LO =4Eеле=8O, 
пDедупDе6де=8N 5оле7=е9; 
пDо6од8тL 7878е=8GеEкое о5уGе=8е 8 
6оEп8т4=8е =4Eеле=8O; 
7=4тL: 
Eо6Dе<е==ое EоEтоO=8е 
окDу64NIе9 EDедK 8 7ло54лL=Kе 
Mколо78GеEк8е пDо5ле<K; 
D4ктоDK окDу64NIе9 EDедK, 
6л8ONI8е =4 7доDо6Lе Gело6ек4; 
оE=о6=Kе поло6е=8O 7878е=K; 
7878е=8GеEк8е пD8=F8пK 
оD74=874F88 7доDо6о7о о5D474 
687=8; 
<етодK, DоD<K 8 EDедEт64 
7878е=8GеEко7о 6оEп8т4=8O 
=4Eеле=8O; 

  О�.05. �878е=4 8 Mколо78O 
Gело6ек4 

ОК 1 - 13 

�К 1.2, 1.5, 1.7, 
2.1, 

3.1, 3.6, 4.2 

у<етL: 
пDо6од8тL 745оD, тD4=EпоDт8Dо6ку 8 
ED4=е=8е <4теD84л4 длO 

  О�.06. ОE=о6K 
<8кDо58оло788 8 
8<<у=оло788 

ОК 1 - 13 

�К 1.5, 2.3, 
3.1, 3.3, 3.6, 4.2 



<8кDо58оло78GеEк8E 8EEледо64=89; 
пDо6од8тL пDоEте9H8е 
<8кDо58оло78GеEк8е 8EEледо64=8O; 
д8DDеDе=F8Dо64тL D47=Kе 7DуппK 
<8кDооD74=87<о6 по 8E оE=о6=K< 
E6о9Eт64<; 
оEуIеEт6лOтL пDоD8л4кт8ку 
D4EпDоEтD4=е=8O 8=DекF88; 
7=4тL: 
DолL <8кDооD74=87<о6 6 687=8 
Gело6ек4 8 о5IеEт64; 
<оDDоло78N, D878оло78N 8 
Mколо78N <8кDооD74=87<о6, <етодK 
8E 87уGе=8O; 
оE=о6=Kе <етодK 4Eепт8к8 8 
4=т8Eепт8к8; 
оE=о6K Mп8де<8оло788 
8=DекF8о==KE 5оле7=е9, пут8 
74D46е=8O, лок4л874F8N 
<8кDооD74=87<о6 6 оD74=87<е 
Gело6ек4, оE=о6K E8<8отеD4п88 8 
E8<8опDоD8л4кт8к8 8=DекF8о==KE 
745оле64=89; 
D4ктоDK 8<<у=8тет4, е7о 7=4Gе=8е 
длO Gело6ек4 8 о5IеEт64, пD8=F8пK 
8<<у=опDоD8л4кт8к8 8 
8<<у=отеD4п88 5оле7=е9 Gело6ек4, 
пD8<е=е=8е 8<<у=оло78GеEк8E 
Dе4кF89 6 <ед8F8=Eко9 пD4кт8ке; 

у<етL: 
6Kп8EK64тL лек4DEт6е==Kе DоD<K 6 
68де DеFепт4 E 8EполL7о64=8е< 
EпD46оG=о9 л8теD4туDK; 

  О�.07. $4D<4коло78O ОК 1, 4, 9 

�К 1.6, 
2.1 - 2.3, 

3.2, 3.4, 3.5, 



=4Eод8тL E6еде=8O о лек4DEт6е==KE 
пDеп4D4т4E 6 доEтуп=KE 5474E 
д4==KE; 
оD8е=т8Dо64тLEO 6 =о<е=кл4туDе 
лек4DEт6е==KE EDедEт6; 
пD8<е=OтL лек4DEт6е==Kе EDедEт64 
по =47=4Gе=8N 6D4G4; 
д464тL Dеко<е=д4F88 п4F8е=ту по 
пD8<е=е=8N D47л8G=KE 
лек4DEт6е==KE EDедEт6; 
7=4тL: 
лек4DEт6е==Kе DоD<K, пут8 
66еде=8O лек4DEт6е==KE EDедEт6, 
68дK 8E де9Eт68O 8 6748<оде9Eт68O; 
оE=о6=Kе лек4DEт6е==Kе 7DуппK 8 
D4D<4котеD4пе6т8GеEк8е де9Eт68O 
лек4DEт6 по 7Dупп4<; 
по5оG=Kе MDDектK, 68дK Dе4кF89 8 
оEло6=е=89 лек4DEт6е==о9 теD4п88; 
пD468л4 74пол=е=8O DеFептуD=KE 
5л4=ко6; 

4.1 - 4.5 

у<етL: 
MDDект86=о D45от4тL 6 ко<4=де; 
8EполL7о64тL 6еD54лL=Kе 8 
=е6еD54лL=Kе EDедEт64 о5Iе=8O 6 
пE8EотеD4пе6т8GеEк8E FелOE; 
уDе7ул8Dо64тL 8 D47DеH4тL 
ко=Dл8кт=Kе E8ту4F88; 
ок47K64тL пE8Eоло78GеEкуN по<оIL 
пD8 EтDеEE4E; 
7=4тL: 
пE8Eоло78N л8G=оEт8; 
Dу=кF88 8 EDедEт64 о5Iе=8O; 

  О�.08. �E8Eоло78O ОК 1 - 3, 6, 7, 11 - 

13 

�К 1.1 - 1.5, 1.7, 

2.1 - 2.3, 

3.1 - 3.6 

4.1 - 4.5 



пут8 D47DеHе=8O EтDеEEо6KE 
E8ту4F89 8 ко=Dл8кто6; 
т8поло78N <е6л8G=оEт=KE 
от=оHе=89; 

у<етL: 
8EполL7о64тL =ео5Eод8<Kе 
=оD<4т86=Kе пD46о6Kе доку<е=тK; 
74I8I4тL E6о8 пD464 6 Eоот6етEт688 
E 7D46д4=Eк8<, 7D46д4=Eк8< 
пDоFеEEу4лL=K< 8 тDудо6K< 
74ко=од4телLEт6о<; 
4=4л878Dо64тL 8 оFе=864тL 
Dе7улLт4тK 8 поEледEт68O 
деOтелL=оEт8 (5е7де9Eт68O) E 
пD46о6о9 тоGк8 7Dе=8O; 
7=4тL: 
оE=о6=Kе поло6е=8O Ко=Eт8туF88 
 оEE89Eко9 $едеD4F88; 
пD464 8 E6о5одK Gело6ек4 8 
7D46д4=8=4, <еE4=87<K 8E 
Dе4л874F88; 
по=Oт8е пD46о6о7о Dе7ул8Dо64=8O 6 
EDеDе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
74ко=од4телL=Kе 4ктK 8 дDу78е 
=оD<4т86=Kе пD46о6Kе 4ктK, 
Dе7ул8DуNI8е пD46оот=оHе=8O 6 
пDоFеEEе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
оD74=874F8о==о-пD46о6Kе DоD<K 
ND8д8GеEк8E л8F; 
пD46о6ое поло6е=8е Eу5Jекто6 
пDедпD8=8<4телLEко9 деOтелL=оEт8; 

  О�.09. �D46о6ое о5еEпеGе=8е 
пDоDеEE8о=4лL=о9 
деOтелL=оEт8 

ОК 1 - 4, 8 

�К 1.7, 3.4 



пD464 8 о5O74==оEт8 D45от=8ко6 6 
EDеDе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
поDOдок 74клNGе=8O тDудо6о7о 
до7о6оD4 8 оE=о64=8O длO е7о 
пDекD4Iе=8O; 
пD468л4 опл4тK тDуд4; 
DолL 7оEуд4DEт6е==о7о 
Dе7ул8Dо64=8O 6 о5еEпеGе=88 
74=OтоEт8 =4Eеле=8O; 
пD46о EоF84лL=о9 74I8тK 7D46д4=; 
по=Oт8е д8EF8пл8=4D=о9 8 
<4теD84лL=о9 от6етEт6е==оEт8 
D45от=8к4; 
68дK 4д<8=8EтD4т86=KE 
пD46о=4DуHе=89 8 
4д<8=8EтD4т86=о9 от6етEт6е==оEт8; 
=оD<K 74I8тK =4DуHе==KE пD46 8 
Eуде5=K9 поDOдок D47DеHе=8O 
EпоDо6; 

у<етL: 
8EполL7о64тL луGH89 отеGеEт6е==K9 
8 74Dу5е6=K9 опKт оD74=874F88 
4куHеDEко7о дел4; 
D4EEG8тK64тL 8 4=4л878Dо64тL 
пок474тел8 о5IеEт6е==о7о 7доDо6LO 
=4Eеле=8O; 
7=4тL: 
пок474тел8 о5IеEт6е==о7о 7доDо6LO 
=4Eеле=8O, <етод8ку 8E D4EGет4 8 
4=4л874; 
D4ктоDK, детеD<8=8DуNI8е 
7доDо6Lе; 

  О�.10. О5IеEт6е==ое 
7доDо6Lе 8 7дD46ооED4=е=8е 

ОК 1, 2, 4, 8, 10 

�К 1.1, 2.1, 2.2, 
3.1, 3.6 



<ед8ко-EоF84лL=Kе 4EпектK 
де<о7D4D88; 
7оEуд4DEт6е==уN E8Eте<у оED4=K 
<4теD8=Eт64 8 детEт64; 
пеD68G=уN уGет=уN <ед8F8=EкуN 
доку<е=т4F8N, 8EполL7уе<уN 6 
уGDе6де=8OE оED4=K <4теD8=Eт64 8 
детEт64; 
D45оту 4куHеDк8 =4 DелLдHеDEко-

4куHеDEко< пу=кте; 
E8Eте<у EоF84лL=о7о 8 
<ед8F8=Eко7о EтD4Eо64=8O; 
7оEуд4DEт6е==уN пDо7D4<<у 
D4768т8O 4куHеDEко7о дел4 6 
 оEE89Eко9 $едеD4F88; 
EтDуктуDу уGDе6де=89 
7дD46ооED4=е=8O; 

у<етL: 
оEуIеEт6лOтL Dе458л8т4F8о==Kе 
<еDопD8Oт8O п4F8е=т4< E 
4куHеDEко9, 78=еколо78GеEко9 8 
MкEтD47е=8т4лL=о9 п4толо78е9; 
оEуIеEт6лOтL пD8е<K кл4EE8GеEко7о 
<4EE464, под58D4тL ко<плекEK 
леGе5=о9 D87кулLтуDK, пDо6од8тL 
оE=о6=Kе D878отеD4пе6т8GеEк8е 
пDоFедуDK по =47=4Gе=8N 6D4G4; 
7=4тL: 
68дK, DоD<K 8 <етодK 
Dе458л8т4F88; 
оEо5е==оEт8 Dе458л8т4F88 6 
4куHеDEко-78=еколо78GеEко9 
пD4кт8ке; 

  О�.11. ОE=о6K 
Dе458л8толо788 

ОК 1, 6, 7, 9, 11 

�К 2.2 - 2.3, 

3.1, 4.2 



пок474=8O 8 оEо5е==оEт8 
пD8<е=е=8O леGе5=о9 D87кулLтуDK 
(д4лее - Л$К), <4EE464 8 
D878отеD4п88 у 5еDе<е==KE, 
Dо6е=8F, Dод8лL=8F 8 
78=еколо78GеEк8E 5олL=KE; 
оE=о6=Kе пD8е<K кл4EE8GеEко7о 
<4EE464, 8E D878оло78GеEкое 
де9Eт68е, пок474=8O 8 
пDот86опок474=8O; 
по=Oт8е о <ед8F8=Eко< ко=тDоле 6 
Л$К; 
оE=о6=Kе 68дK 
D878отеD4пе6т8GеEк8E пDоFедуD; 

у<етL: 
оD74=87о6K64тL 8 пDо6од8тL 
<еDопD8Oт8O по 74I8те D45от4NI8E 
8 =4Eеле=8O от =е74т86=KE 
6о7де9Eт689 GDе76KG49=KE 
E8ту4F89; 
пDедпD8=8<4тL пDоD8л4кт8GеEк8е 
<еDK длO E=86е=8O уDо6=O 
оп4E=оEте9 D47л8G=о7о 68д4 8 8E 
поEледEт689 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8 8 5Kту; 
8EполL7о64тL EDедEт64 
8=д868ду4лL=о9 8 коллект86=о9 
74I8тK от оDу68O <4EEо6о7о 
поD46е=8O; 
пD8<е=OтL пеD68G=Kе EDедEт64 
по64DотуHе=8O; 
оD8е=т8Dо64тLEO 6 пеDеG=е 6ое==о-

уGет=KE EпеF84лL=оEте9 8 

 68 О�.12. �е7оп4E=оEтL 
687=едеOтелL=оEт8 

ОК 1 - 13 

�К 1.1, 2.1, 3.1, 
4.3 



E4<оEтоOтелL=о опDеделOтL EDед8 
=8E DодEт6е==Kе полуGе==о9 
EпеF84лL=оEт8; 
пD8<е=OтL пDоDеEE8о=4лL=Kе 
7=4=8O 6 Eоде 8Eпол=е=8O 
о5O74==оEте9 6ое==о9 Eлу65K =4 
6о8=Eк8E дол6=оEтOE 6 Eоот6етEт688 
E полуGе==о9 EпеF84лL=оEтLN; 
6л4детL EпоEо54<8 5еEко=Dл8кт=о7о 
о5Iе=8O 8 E4<оDе7улOF88 6 
по6Eед=е6=о9 деOтелL=оEт8 8 
MкEтDе<4лL=KE уEло68OE 6ое==о9 
Eлу65K; 
ок47K64тL пеD6уN по<оIL 
поEтD4д46H8<; 
7=4тL: 
пD8=F8пK о5еEпеGе=8O уEто9G86оEт8 
о5Jекто6 Mко=о<8к8, 
пDо7=о78Dо64=8O D4768т8O Eо5Kт89 
8 оFе=к8 поEледEт689 пD8 
теE=о7е==KE GDе76KG49=KE 
E8ту4F8OE 8 Eт8E89=KE O6ле=8OE, 6 
то< G8Eле 6 уEло68OE 
пDот86оде9Eт68O теDDоD87<у к4к 
EеDLе7=о9 у7Dо7е =4F8о=4лL=о9 
5е7оп4E=оEт8  оEE88; 
оE=о6=Kе 68дK поте=F84лL=KE 
оп4E=оEте9 8 8E поEледEт68O 6 
пDоDеEE8о=4лL=о9 деOтелL=оEт8 8 
5Kту, пD8=F8пK E=86е=8O 
6еDоOт=оEт8 8E Dе4л874F88; 
оE=о6K 6ое==о9 Eлу65K 8 о5оDо=K 
7оEуд4DEт64; 



74д4G8 8 оE=о6=Kе <еDопD8Oт8O 
7D46д4=Eко9 о5оDо=K; EпоEо5K 
74I8тK =4Eеле=8O от оDу68O 
<4EEо6о7о поD46е=8O; 
<еDK по64D=о9 5е7оп4E=оEт8 8 
пD468л4 5е7оп4E=о7о по6еде=8O пD8 
по64D4E; 
оD74=874F8N 8 поDOдок пD87K64 
7D46д4= =4 6ое==уN Eлу65у 8 
поEтупле=8O =4 =ее 6 до5Dо6олL=о< 
поDOдке; 
оE=о6=Kе 68дK 6ооDу6е=8O, 
6ое==о9 теE=8к8 8 EпеF84лL=о7о 
E=4DO6е=8O, EоEтоOI8E =4 
6ооDу6е=88 (оE=4Iе=88) 6о8=Eк8E 
подD47деле=89, 6 котоDKE 8<еNтEO 
6ое==о-уGет=Kе EпеF84лL=оEт8, 
DодEт6е==Kе EпеF84лL=оEтO< !�О; 
о5л4EтL пD8<е=е=8O полуG4е<KE 
пDоDеEE8о=4лL=KE 7=4=89 пD8 
8Eпол=е=88 о5O74==оEте9 6ое==о9 
Eлу65K; 
поDOдок 8 пD468л4 ок474=8O пеD6о9 
по<оI8 поEтD4д46H8<. 

��.00 �DоDеEE8о=4лL=Kе <одул8 1414 942   

��.01 �ед8F8=Eк4O 8 <ед8ко-EоF84лL=4O 
по<оIL 6е=I8=е, =о6оDо6де==о<у, 
Eе<Lе пD8 D878оло78GеEко< теGе=88 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 

� Dе7улLт4те 87уGе=8O 

  ��К.01.01. 
$878оло78GеEкое 4куHеDEт6о 

ОК 1 - 13 

�К 1.1 - 1.7 

��К.01.02. 
$878опE8EопDоD8л4кт8GеEк4O 
под7ото6к4 5еDе<е==KE к 
Dод4< 



пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
пDо6еде=8O д8Eп4=EеD874F88 8 
п4тDо=464 5еDе<е==о9 8 
Dод8лL=8FK; 
D878опE8EопDоD8л4кт8GеEко9 
под7ото6к8 5еDе<е==о9 к Dод4<; 
пDо6еде=8O уEод4, о5Eледо64=8O 
5еDе<е==KE, Dо6е=8F, Dод8лL=8F, 
=о6оDо6де==KE; 
ок474=8O 4куHеDEко7о поEо58O пD8 
D878оло78GеEк8E Dод4E 8 
пDо6еде=8O пеD68G=о7о ту4лет4 
=о6оDо6де==о7о; 
ок474=8O по<оI8 Dод8лL=8Fе пD8 
7Dуд=о< 6Eк4D<л864=88 8 уEоду 74 
=о6оDо6де==K<; 
у<етL: 
6л4детL <4=8пулOF8о==о9 теE=8ко9 
6 4куHеDEко< деле; 
пDо6од8тL 
D878опE8EопDоD8л4кт8GеEкуN 
под7ото6ку 5еDе<е==о9 к Dод4<; 
6Kпол=OтL уEод, о5Eледо64=8е 8 
=45лNде=8е 74 7доDо6о9 
5еDе<е==о9, Dо6е=8Fе9, 
Dод8лL=8Fе9, =о6оDо6де==K<; 
6Kпол=OтL 4куHеDEкое поEо58е пD8 
D878оло78GеEк8E Dод4E 8 пDо6од8тL 
пеD68G=K9 ту4лет =о6оDо6де==о7о; 
8=DоD<8Dо64тL п4F8е=то6 по 
6опDоE4< оED4=K <4теD8=Eт64 8 

��К.01.03. !еEтD8=Eк89 уEод 
74 7доDо6K< =о6оDо6де==K< 



детEт64; 
пDо6од8тL E4=8т4D=о-

пDоE6ет8телLEкуN D45оту E 
5еDе<е==K<8, Dо6е=8F4<8 8 
Dод8лL=8F4<8; 
7=4тL: 
<ед8ко-EоF84лL=Kе 4EпектK 
Dодо6Eпо<о6е=8O; 
4=4то<8GеEк8е 8 D878оло78GеEк8е 
оEо5е==оEт8 DепDодукт86=о9 EDеDK 
6е=I8=K 6 D47л8G=Kе пеD8одK 
687=8, 6клNG4O 5еDе<е==оEтL, DодK 
8 поEлеDодо6K9 пеD8од; 
D878оло78N 5еDе<е==оEт8, 
д847=оEт8ку; 
оED4=у DепDодукт86=о7о 7доDо6LO, 
4=те=от4лL=уN оED4=у плод4; 
пD8=F8пK 6еде=8O 8 <етодK 
о5Eледо64=8O 6е=I8=K 6о 6Dе<O 
5еDе<е==оEт8; 
D878опE8EопDоD8л4кт8GеEкуN 
под7ото6ку 5еDе<е==KE к Dод4<; 
DодK, пеD8одK Dодо6; 
6еде=8е Dодо6 8 поEлеDодо6о7о 
пеD8од4; 
пD8=F8пK пDоD8л4кт8к8 4куHеDEк8E 
оEло6=е=89; 
пок474=8O 8 пDот86опок474=8O к 
пD8<е=е=8N лек4DEт6е==KE 
пDеп4D4то6 пD8 D878оло78GеEко< 
теGе=88 5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4; 
4=4то<8GеEк8е 8 D878оло78GеEк8е 



оEо5е==оEт8 пеD8од4 
=о6оDо6де==оEт8, оFе=ку EоEтоO=8O 
=о6оDо6де==о7о; 
оE=о6=Kе пD8=F8пK 8 пDе8<уIеEт64 
7Dуд=о7о 6Eк4D<л864=8O; 
64кF8=4F8N пDот86 ту5еDкуле74 
(�&�); 
Mт8GеEк8е 8 део=толо78GеEк8е 
оEо5е==оEт8 о5Eлу6864=8O 6е=I8= 
6 уGDе6де=8OE Dодо6Eпо<о6е=8O E 
уGето< кулLтуD=KE 8 Dел878о7=KE 
D47л8G89. 

��.02 �ед8F8=Eк4O по<оIL 5еDе<е==K< 
8 детO< пD8 745оле64=8OE, 
отD46ле=8OE 8 тD46<4E 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
пDо6еде=8O уEод4, леGе5=о-

д847=оEт8GеEк8E, пDоD8л4кт8GеEк8E 
<еDопD8Oт89 п4F8е=т4< E 
MкEтD47е=8т4лL=о9 п4толо78е9 под 
Dуко6одEт6о< 6D4G4; 
пDо6еде=8O уEод4, леGе5=о-

д847=оEт8GеEк8E, пDоD8л4кт8GеEк8E, 
Dе458л8т4F8о==KE <еDопD8Oт89 
детO< под Dуко6одEт6о< 6D4G4; 
у<етL: 
оEуIеEт6лOтL EеEтD8=Eк89 уEод пD8 
MкEтD47е=8т4лL=о9 п4толо788; 
Eо58D4тL 8=DоD<4F8N 8 пDо6од8тL 
о5Eледо64=8е п4F8е=т4; 

  ��К.02.01 !о<4т8GеEк8е 
745оле64=8O, отD46ле=8O 8 
5еDе<е==оEтL 

ОК 1 - 13 

�К 2.1 - 2.3 

��К.02.02. �=DекF8о==Kе 
745оле64=8O 8 5еDе<е==оEтL 

��К.02.03. %8DуD78GеEк8е 
745оле64=8O, тD46<K 8 
5еDе<е==оEтL 

��К.02.04. �ед84тD8O 



7ото68тL п4F8е=т4 к 
д847=оEт8GеEк8< 8EEледо64=8O<; 
ок47K64тL до6D4Gе5=уN по<оIL пD8 
=еотло6=KE EоEтоO=8OE; 
пDо6од8тL лек4DEт6е==уN теD4п8N 
по =47=4Gе=8N 6D4G4; 
оEуIеEт6лOтL уEод 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
6KO6лOтL D878GеEк8е 8 пE8E8GеEк8е 
откло=е=8O 6 D4768т88 Dе5е=к4; 
оEуIеEт6лOтL уEод 8 о5уG4тL 
Dод8теле9 уEоду 74 5олL=K< 
Dе5е=ко<; 
ок47K64тL до6D4Gе5=уN по<оIL 
детO< пD8 =еотло6=KE EоEтоO=8OE; 
пDо6од8тL 5еEедK E Dод8телO<8 по 
пDоD8л4кт8ке 745оле64=89 у дете9; 
7=4тL: 
оE=о6=Kе 68дK Eо<4т8GеEко9 
MкEтD47е=8т4лL=о9 п4толо788; 
оEо5о оп4E=Kе 8=DекF8о==Kе 
745оле64=8O; 
оEо5е==оEт8 6еде=8O 5еDе<е==оEт8, 
Dодо6, поEлеDодо6о7о пеD8од4 пD8 
8=DекF8о==о9 п4толо788; 
6л8O=8е детEк8E 8=DекF89 =4 
теGе=8е 5еDе<е==оEт8 8 
6=утD8утDо5=ое D4768т8е плод4; 
оE=о6=Kе E8DуD78GеEк8е 
745оле64=8O; 
оEо5е==оEт8 уEод4 74 п4F8е=т4<8 6 
пеD8опеD4т86=о< пеD8оде; 
оE=о6=Kе =еотло6=Kе EоEтоO=8O 



пD8 Eо<4т8GеEко9 8 E8DуD78GеEко9 
п4толо788; 
<етодK о5Eледо64=8O 8 оFе=к8 
D878GеEко7о 8 пE8Eо<отоD=о7о 
D4768т8O дете9; 
пDо5ле<K Dе5е=к4, E6O74==Kе Eо 
7доDо6Lе<, 8 пDо5ле<K Eе<L8; 
оE=о6=Kе 745оле64=8O детEко7о 
6о7D4Eт4, оEо5е==оEт8 леGе=8O 8 
уEод4; 
=еотло6=Kе EоEтоO=8O 6 пед84тD88; 
к4ле=д4DL пDоD8л4кт8GеEк8E 
пD8686ок у дете9; 
<еDопD8Oт8O по пDоD8л4кт8ке 
745оле64=89 у дете9. 

��.03 �ед8F8=Eк4O по<оIL 6е=I8=е E 
78=еколо78GеEк8<8 745оле64=8O<8 6 
D47л8G=Kе пеD8одK 687=8 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
уEод4 74 п4F8е=т4<8 E 
78=еколо78GеEко9 п4толо78е9; 
уG4Eт8O 6 леGе5=о-д847=оEт8GеEк8E 
<еDопD8Oт8OE 8 уEод4 6 
пеD8опеD4т86=о< пеD8оде; 
ок474=8O до6D4Gе5=о9 по<оI8 пD8 
=еотло6=KE EоEтоO=8OE 6 
78=еколо788; 
уG4Eт8O 6 ко=EулLт4т86=о9 по<оI8 
по 6опDоE4< ко=тD4FепF88 8 
поло6о9 7878е=K; 

  ��К.03.01. �8=еколо78O ОК 1 - 14 

�К 3.1 - 3.6 
��К.03.02. ОED4=4 
DепDодукт86=о7о 7доDо6LO 8 
пл4=8Dо64=8е Eе<L8 



уG4Eт8O 6 пDо6еде=88 
пDоD8л4кт8GеEк8E оE<отDо6 6е=I8= 
8 д8Eп4=EеD874F88; 
у<етL: 
пDо6од8тL пDоD8л4кт8GеEк89 
78=еколо78GеEк89 оE<отD; 
оEуIеEт6лOтL д8Eп4=EеD874F8N 
78=еколо78GеEк8E 5олL=KE; 
уG4Eт6о64тL 6 леGе5=о-

д847=оEт8GеEк8E пDоFедуD4E 8 
оEуIеEт6лOтL уEод 74 п4F8е=т4<8 6 
пеD8опеD4т86=о< пеD8оде; 
ок47K64тL до6D4Gе5=уN по<оIL пD8 
=еотло6=KE EоEтоO=8OE 6 
78=еколо788; 
пDо6од8тL ко=EулLт8Dо64=8е по 
6опDоE4< ко=тD4FепF88 8 поло6о9 
7878е=K; 
пDо6од8тL E4=8т4D=о-

пDоE6ет8телLEкуN D45оту по 
пDоD8л4кт8ке 45оDто6, 
78=еколо78GеEк8E, 6е=еD8GеEк8E 8 
о=коло78GеEк8E 745оле64=89 8 
EоED4=е=8N DепDодукт86=о7о 
7доDо6LO; 
7=4тL: 
<етодK о5Eледо64=8O 
78=еколо78GеEк8E 5олL=KE; 
68дK 78=еколо78GеEко9 п4толо788; 
оEо5е==оEт8 теGе=8O, 6еде=8O 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 =4 Dо=е 
78=еколо78GеEко9 п4толо788; 



<етодK леGе=8O 6 78=еколо788; 
уEод 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
до6D4Gе5=уN по<оIL пD8 
=еотло6=KE EоEтоO=8OE 6 
78=еколо788; 
пDоD8л4кт8ку 78=еколо78GеEк8E 
745оле64=89; 
д8Eп4=EеD874F8N 78=еколо78GеEк8E 
5олL=KE 8 пDо6еде=8е 
пDоD8л4кт8GеEк8E оE<отDо6; 
Eо6Dе<е==Kе <етодK ко=тD4FепF88; 
D45оту по поло6о<у 6оEп8т4=8N 
подDоEтко6 8 EоED4=е=8N 
DепDодукт86=о7о 7доDо6LO. 

��.04 �ед8F8=Eк4O по<оIL 6е=I8=е, 
=о6оDо6де==о<у, Eе<Lе пD8 
п4толо78GеEко< теGе=88 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
пDо6еде=8O о5Eледо64=8O, уEод4, 
=45лNде=8O 8 6еде=8O 5еDе<е==KE, 
Dо6е=8F, Dод8лL=8F 6 EлуG4е 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788 под Dуко6одEт6о< 6D4G4; 
ок474=8е до6D4Gе5=о9 по<оI8 
5еDе<е==о9, Dо6е=8Fе, Dод8лL=8Fе 
пD8 4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 

  ��К.04.01. �4толо78GеEкое 
4куHеDEт6о 

ОК 1 - 13 

�К 4.1 - 4.5 

��К.04.02. !еEтD8=Eк89 уEод 
74 5олL=K< =о6оDо6де==K< 



ок474=8е леGе5=о-д847=оEт8GеEко9, 
пDоD8л4кт8GеEко9 по<оI8 5олL=K< 
=о6оDо6де==K< под Dуко6одEт6о< 
6D4G4; 
ок474=8е до6D4Gе5=о9 по<оI8 
=о6оDо6де==о<у пD8 =еотло6=KE 
EоEтоO=8OE; 
у<етL: 
пDо6од8тL о5Eледо64=8е, уEод 8 
=45лNде=8е 74 6е=I8=4<8 E 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо78е9 под Dуко6одEт6о< 6D4G4; 

пDо6од8тL 4куHеDEк8е поEо58O =4 
D4=то<4E пD8 п4толо78GеEк8E Dод4E; 
ок47K64тL до6D4Gе5=уN по<оIL пD8 
4куHеDко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 
оEуIеEт6лOтL уEод 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
оEуIеEт6лOтL уEод 74 
=едо=оHе==K< =о6оDо6де==K<; 
ок47K64тL <ед8F8=Eк8е уEлу78 6 
=ео=4толо788; 
ок47K64тL до6D4Gе5=уN по<оIL 
=о6оDо6де==о<у пD8 =еотло6=KE 
EоEтоO=8OE; 
7=4тL: 
68дK 4куHеDEко9 п4толо788; 
оEо5е==оEт8 теGе=8O 8 6еде=8O 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 =4 Dо=е 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 



ко=EеD64т86=Kе <етодK леGе=8O 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 
оE=о6=Kе 68дK 4куHеDEк8E 
опеD4F89; 
уEод 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
до6D4Gе5=уN по<оIL пD8 
=еотло6=KE EоEтоO=8OE 6 
4куHеDEт6е; 
пD87=4к8 =едо=оHе==оEт8 Dе5е=к4; 
745оле64=8O пеD8од4 
=о6оDо6де==оEт8, 8E пDоO6ле=8O у 
=о6оDо6де==KE пD8 D47л8G=о9 
Eтепе=8 7DелоEт8; 
Mт4пK 6KE46864=8O 8 пD8=F8пK 
теD4п88 =едо=оHе==KE дете9; 
оEо5е==оEт8 64кF8=4F88 �&� 
=едо=оHе==KE дете9; 
=еотло6=Kе EоEтоO=8O у 
=о6оDо6де==KE; 
до6D4Gе5=4O по<оIL пD8 
=еотло6=KE EоEтоO=8OE у 
=о6оDо6де==KE. 

��.05 �Kпол=е=8е D45от по од=о9 8л8 
=еEколLк8< пDоDеEE8O< D45оG8E, 
дол6=оEтO< Eлу64I8E 

    

 �4D84т86=4O G4EтL уGе5=KE F8кло6 
��!!� 

(опDеделOетEO о5D47о64телL=о9 
оD74=874F8е9 E4<оEтоOтелL=о) 

1404 936   



 �Eе7о G4Eо6 о5уGе=8O по уGе5=K< 
F8кл4< ��!!� 

4644 3096   

'�.00 'Gе5=4O пD4кт8к4 

23 =ед. 828 

 ОК 1 - 14 

�К 1.1 - 4.5 
��.00 �Dо876одEт6е==4O пD4кт8к4 (по 

пDоD8лN EпеF84лL=оEт8) 

���.00 �Dо876одEт6е==4O пD4кт8к4 
(пDедд8пло<=4O пD4кт8к4) 

4 =ед.    

��.00 �Dо<е6утоG=4O 4ттеEт4F8O 5 =ед.    

���.00 �оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O 6 =ед.    

���.01 �од7ото6к4 6KпуEк=о9 
к64л8D8к4F8о==о9 D45отK 

4 =ед.    

���.02 �4I8т4 6KпуEк=о9 
к64л8D8к4F8о==о9 D45отK 

2 =ед.    



 

&45л8F4 4 

 

!Dок полуGе=8O !�О по ��!!� 547о6о9 под7ото6к8 6 оG=о9 DоD<е о5уGе=8O EоEт46лOет 147 =еделL, 6 то< G8Eле: 
 

О5уGе=8е по уGе5=K< F8кл4< 86 =ед. 

'Gе5=4O пD4кт8к4 

23 =ед. 
�Dо876одEт6е==4O пD4кт8к4 (по пDоD8лN EпеF84лL=оEт8) 

�Dо876одEт6е==4O пD4кт8к4 (пDедд8пло<=4O) 4 =ед. 

�Dо<е6утоG=4O 4ттеEт4F8O 5 =ед. 

�оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O 6 =ед. 

К4=8кулK 23 =ед. 

�то7о 147 =ед. 

 

&45л8F4 5 

 

!тDуктуD4 пDо7D4<<K под7ото6к8 EпеF84л8Eто6 EDед=е7о 76е=4 

у7лу5ле==о9 под7ото6к8 

 

�=декE �48<е=о64=8е уGе5=KE F8кло6, 
D47дело6, <одуле9, тDе5о64=8O к 
7=4=8O<, у<е=8O<, пD4кт8GеEко<у 

опKту 

�Eе7о 
<4кE8<4лL=о9 

уGе5=о9 =47Dу7к8 
о5уG4NIе7оEO 
(G4E./=ед.) 

� то< G8Eле 
G4Eо6 

о5O74телL=KE 
уGе5=KE 74=Oт89 

�=декE 8 =48<е=о64=8е 
д8EF8пл8=, 

<е6д8EF8пл8=4D=KE куDEо6 
(��К) 

КодK 
DоD<8Dуе<KE 
ко<пете=F89 

 О5O74телL=4O G4EтL уGе5=KE F8кло6 
��!!� 

4590 3060   



О�!1.00 О5I89 7у<4=8т4D=K9 8 EоF84лL=о-

Mко=о<8GеEк89 уGе5=K9 F8кл 

942 628   

� Dе7улLт4те 87уGе=8O о5O74телL=о9 
G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
дол6е=: 
у<етL: 
оD8е=т8Dо64тLEO 6 о5I8E 
D8лоEоDEк8E пDо5ле<4E 5Kт8O, 
по7=4=8O, Fе==оEте9, E6о5одK 8 
E<KEл4 687=8 к4к оE=о64E 
DоD<8Dо64=8O кулLтуDK 7D46д4=8=4 
8 5удуIе7о EпеF84л8Eт4; 
7=4тL: 
оE=о6=Kе к4те7оD88 8 по=Oт8O 
D8лоEоD88; 
DолL D8лоEоD88 6 687=8 Gело6ек4 8 
о5IеEт64; 
оE=о6K D8лоEоDEко7о уGе=8O о 
5Kт88; 
EуI=оEтL пDоFеEE4 по7=4=8O; 
оE=о6K =4уG=о9, D8лоEоDEко9 8 
Dел878о7=о9 к4Dт8= <8D4; 
о5 уEло68OE DоD<8Dо64=8O 
л8G=оEт8, о E6о5оде 8 
от6етEт6е==оEт8 74 EоED4=е=8е 
687=8, кулLтуDK, окDу64NIе9 
EDедK; 
о EоF84лL=KE 8 Mт8GеEк8E 
пDо5ле<4E, E6O74==KE E D4768т8е< 8 
8EполL7о64=8е< доEт86е=89 =4ук8, 
теE=8к8 8 теE=оло789; 

 48 О�!1.01. ОE=о6K D8лоEоD88 ОК 1 - 13 

у<етL:  48 О�!1.02. �EтоD8O ОК 1 - 13 



оD8е=т8Dо64тLEO 6 Eо6Dе<е==о9 
Mко=о<8GеEко9, пол8т8GеEко9 8 
кулLтуD=о9 E8ту4F88 6  оEE88 8 
<8Dе; 
6KO6лOтL 6748<оE6O7L 
отеGеEт6е==KE, Dе78о=4лL=KE, 
<8Dо6KE EоF84лL=о-Mко=о<8GеEк8E, 
пол8т8GеEк8E 8 кулLтуD=KE пDо5ле<; 
7=4тL: 
оE=о6=Kе =4пD46ле=8O D4768т8O 
клNGе6KE Dе78о=о6 <8D4 =4 Dу5е6е 
6еко6 (XX 8 XXI 66.); 
EуI=оEтL 8 пD8G8=K лок4лL=KE, 
Dе78о=4лL=KE, <е67оEуд4DEт6е==KE 
ко=Dл8кто6 6 ко=Fе XX - =4G4ле XXI 
66.; 
оE=о6=Kе пDоFеEEK 
(8=те7D4F8о==Kе, пол8кулLтуD=Kе, 
<87D4F8о==Kе 8 8=Kе) 
пол8т8GеEко7о 8 Mко=о<8GеEко7о 
D4768т8O 6едуI8E 7оEуд4DEт6 8 
Dе78о=о6 <8D4; 
=47=4Gе=8е ОО�, ��&О, �! 8 дDу78E 
оD74=874F89 8 оE=о6=Kе 
=4пD46ле=8O 8E деOтелL=оEт8; 
о Dол8 =4ук8, кулLтуDK 8 Dел8788 6 
EоED4=е=88 8 укDепле=88 
=4F8о=4лL=KE 8 7оEуд4DEт6е==KE 
тD4д8F89; 
EодеD64=8е 8 =47=4Gе=8е 
646=е9H8E 74ко=од4телL=KE 8 8=KE 
=оD<4т86=KE пD46о6KE 4кто6 
<8Dо6о7о 8 Dе78о=4лL=о7о 7=4Gе=8O; 



у<етL: 
о5I4тLEO уEт=о 8 п8EL<е==о =4 
8=оEтD4==о< O7Kке =4 
пDоDеEE8о=4лL=Kе 8 по6Eед=е6=Kе 
те<K; 
пеDе6од8тL Eо Eло64Dе< 
8=оEтD4==Kе текEтK 
пDоDеEE8о=4лL=о9 =4пD46ле==оEт8; 
E4<оEтоOтелL=о Eо6еDHе=Eт6о64тL 
уEт=уN 8 п8EL<е==уN DеGL, 
попол=OтL Eло64D=K9 74п4E; 
7=4тL: 
лекE8GеEк89 (1200 - 1400 

лекE8GеEк8E ед8=8F) 8 
7D4<<4т8GеEк89 <8=8<у<, 
=ео5Eод8<K9 длO Gте=8O 8 пеDе6од4 
Eо Eло64Dе< 8=оEтD4==KE текEто6 
пDоDеEE8о=4лL=о9 =4пD46ле==оEт8; 

 242 О�!1.03. �=оEтD4==K9 O7Kк ОК 1 - 13 

�К 1.1 - 1.7, 

2.1, 3.6, 

4.1 - 4.5 

у<етL: 
8EполL7о64тL D87кулLтуD=о-

о7доDо68телL=уN деOтелL=оEтL длO 
укDепле=8O 7доDо6LO, доEт86е=8O 
687=е==KE 8 пDоDеEE8о=4лL=KE 
Fеле9; 
7=4тL: 
о Dол8 D878GеEко9 кулLтуDK 6 
о5IекулLтуD=о<, 
пDоDеEE8о=4лL=о< 8 EоF84лL=о< 
D4768т88 Gело6ек4; 
оE=о6K 7доDо6о7о о5D474 687=8; 

484 242 О�!1.04. $878GеEк4O кулLтуD4 ОК 1 - 13 

у<етL: 
пD8<е=OтL теE=8к8 8 пD8е<K 

  О�!1.05. �E8Eоло78O о5Iе=8O ОК 1 - 3, 6 - 7, 11 

- 13 



MDDект86=о7о о5Iе=8O 6 
пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
8EполL7о64тL пD8е<K 
E4<оDе7улOF88 по6еде=8O 6 
пDоFеEEе <е6л8G=оEт=о7о о5Iе=8O; 
7=4тL: 
6748<оE6O7L о5Iе=8O 8 
деOтелL=оEт8; 
Fел8, Dу=кF88, 68дK 8 уDо6=8 
о5Iе=8O; 
Dол8 8 Dоле6Kе о68д4=8O 6 
о5Iе=88; 
68дK EоF84лL=KE 6748<оде9Eт689; 
<еE4=87<K 6748<опо=8<4=8O 6 
о5Iе=88; 
теE=8к8 8 пD8е<K о5Iе=8O, пD468л4 
EлуH4=8O, 6еде=8O 5еEедK, 
у5е6де=8O; 
Mт8GеEк8е пD8=F8пK о5Iе=8O; 
8EтоG=8к8, пD8G8=K, 68дK 8 EпоEо5K 
D47DеHе=8O ко=Dл8кто6; 
7=4тL: 
оE=о6K дело6о7о о5Iе=8O; 
т8пK E6O7е9 8 от=оHе=89 8=д868д4 
8 D47л8G=KE EоF84лL=KE 7Dупп; 
т8поло78N <е6л8G=оEт=KE 
от=оHе=89; 
D4ктоDK EтDеEE4 8 пут8 D47DеHе=8O 
EтDеEEо6KE E8ту4F89 8 ко=Dл8кто6. 

�К 1.1 - 1.5, 1.7, 

2.1 - 2.4, 

3.1 - 3.7, 

4.1 - 4.7, 

5.1 - 5.4 

��.00 �4те<4т8GеEк89 8 о5I89 
еEтеEт6е==о=4уG=K9 уGе5=K9 F8кл 

228 152   

� Dе7улLт4те 87уGе=8O о5O74телL=о9   ��.01. �4те<4т8к4 ОК 1 - 4, 8 



G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
дол6е=: 
у<етL: 
DеH4тL пD8кл4д=Kе 74д4G8 6 
о5л4Eт8 пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
7=4тL: 
7=4Gе=8е <4те<4т8к8 6 
пDоDеEE8о=4лL=о9 деOтелL=оEт8 8 
пD8 оE6ое=88 ��!!�; 
оE=о6=Kе <4те<4т8GеEк8е <етодK 
DеHе=8O пD8кл4д=KE 74д4G 6 
о5л4Eт8 пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
оE=о6=Kе по=Oт8O 8 <етодK теоD88 
6еDоOт=оEте9 8 <4те<4т8GеEко9 
Eт4т8Eт8к8; 
оE=о6K 8=те7D4лL=о7о 8 
д8DDеDе=F84лL=о7о 8EG8Eле=8O; 

�К 1.6, 2.6 

у<етL: 
8EполL7о64тL теE=оло788 E5оD4, 
D47<еIе=8O, ED4=е=8O, =4копле=8O, 
пDео5D47о64=8O 8 пеDед4G8 д4==KE 
6 пDоDеEE8о=4лL=о 
оD8е=т8Dо64==KE 8=DоD<4F8о==KE 
E8Eте<4E; 
8EполL7о64тL 6 пDоDеEE8о=4лL=о9 
деOтелL=оEт8 D47л8G=Kе 68дK 
пDо7D4<<=о7о о5еEпеGе=8O, 6 то< 
G8Eле EпеF84лL=о7о; 
пD8<е=OтL ко<пLNтеD=Kе 8 
телеко<<у=8к4F8о==Kе EDедEт64; 
7=4тL: 

  ��.02. �=DоD<4F8о==Kе 
теE=оло788 6 
пDоDеEE8о=4лL=о9 
деOтелL=оEт8 

ОК 3 - 5, 9 

�К 1.1, 1.2, 1.7, 

2.1, 3.1, 3.6, 

4.7, 5.3, 5.4, 

6.1 - 6.7 



оE=о6=Kе по=Oт8O 
46то<4т878Dо64==о9 о5D45отк8 
8=DоD<4F88; 
о5I89 EоEт46 8 EтDуктуDу 
пеDEо=4лL=KE ко<пLNтеDо6 8 
6KG8Eл8телL=KE E8Eте<; 
EоEт46, Dу=кF88 8 6о7<о6=оEт8 
8EполL7о64=8O 8=DоD<4F8о==KE 8 
телеко<<у=8к4F8о==KE теE=оло789 
6 пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
<етодK 8 EDедEт64 E5оD4, о5D45отк8, 
ED4=е=8O, пеDед4G8 8 =4копле=8O 
8=DоD<4F88; 
547о6Kе E8Eте<=Kе пDо7D4<<=Kе 
пDодуктK 8 п4кетK пD8кл4д=KE 
пDо7D4<< 6 о5л4Eт8 
пDоDеEE8о=4лL=о9 деOтелL=оEт8; 
оE=о6=Kе <етодK 8 пD8е<K 
о5еEпеGе=8O 8=DоD<4F8о==о9 
5е7оп4E=оEт8; 

у<етL: 
8EполL7о64тL 7=4=8O о 58о7е==оEт8 
E8<8GеEк8E Mле<е=то6 6 пD4кт8ке; 
DеH4тL 74д4G8 E <ед8F8=Eк8< 
EодеD64=8е<; 
7=4тL: 
DолL 58о7е==KE E8<8GеEк8E 
Mле<е=то6 6 оD74=87<е Gело6ек4; 
DолL 6одK 6 оD74=87<е Gело6ек4; 
D4Eт6оDK 6 <ед8F8=е; 
D47л8G8O 6 по=Oт8OE 
де78=D8F8DуNI8е, 4=т8Eепт8GеEк8е 
8 E8<8отеD4пе6т8GеEк8е EDедEт64; 

  ��.03. �ед8F8=Eк4O E8<8O ОК 1 - 4, 11 

�К 1.1, 1.5, 1.7, 
2.4 



5уDеD=Kе E8Eте<K кDо68, 4F8до7, 
4лк4ло7, IелоG=Kе, 5уDеD=Kе 
E8Eте<K кDо68; 
74ло7е=K, пD8<е=Oе<Kе 6 <ед8F8=е; 
<еE4=87<K де9Eт68O Eоле9 тO6елKE 
<ет4лло6 =4 оD74=87<; 

у<етL: 
пD8<е=OтL <етодK <ед8F8=Eко9 
D878к8 6 пDоD8л4кт8ке, д847=оEт8ке 
8 леGе=88 745оле64=89; 
7=4тL: 
D878GеEк8е оE=о6K пDоD8л4кт8к8, 
д847=оEт8к8 8 леGе=8O D47л8G=KE 
745оле64=89; 
оEо5е==оEт8 л4<8=4D=о7о 8 
туD5уле=т=о7о теGе=8O кDо68, 
кл8=8GеEк8е пDоO6ле=8O; 
D878GеEк8е <етодK 
MлектDок4Dд8о7D4D88; 
6л8O=8е MлектDо<47=8т=о7о полO =4 
D878GеEк8е пDоFеEEK 6 
58оло78GеEк8E тк4=OE; 
пD8<е=е=8е 6олоко==о9 опт8к8 6 
д847=оEт8ке; 
68дK 87луGе=8O 8 8E пD8<е=е=8е 6 
<ед8F8=е; 
пD8<е=е=8е 7оло7D4D88, л47еD4, 
Dе=т7е=о6Eко7о 87луGе=8O, 
D4д8о=укл8до6 6 <ед8F8=е; 
58оло78GеEкое де9Eт68е 
8о=878DуNI8E 87луGе=89 =4 
оD74=87<; 
оE=о6=Kе 7DуппK <ед8F8=Eк8E 

  ��.04. �ед8F8=Eк4O D878к4 ОК 1 - 3, 11 

�К 1.1, 1.2, 1.7, 
2.2, 3.3, 5.2 



MлектDо==KE пD85оDо6 8 4пп4D4то6. 

�.00 �DоDеEE8о=4лL=K9 уGе5=K9 F8кл 3420 2280   

О�.00 О5IепDоDеEE8о=4лL=Kе 
д8EF8пл8=K 

1056 704   

� Dе7улLт4те 87уGе=8O о5O74телL=о9 
G4Eт8 уGе5=о7о F8кл4 о5уG4NI89EO 
по о5IепDоDеEE8о=4лL=K< 
д8EF8пл8=4< дол6е=: 
у<етL: 
пD468лL=о G8т4тL 8 п8E4тL =4 
л4т8=Eко< O7Kке <ед8F8=Eк8е 
(4=4то<8GеEк8е, кл8=8GеEк8е 8 
D4D<4Fе6т8GеEк8е) теD<8=K; 
о5JOE=OтL 7=4Gе=8O теD<8=о6 по 
7=4ко<K< теD<8=оMле<е=т4<; 
пеDе6од8тL DеFептK 8 оDоD<лOтL 8E 
по 74д4==о<у =оD<4т86=о<у 
о5D47Fу; 
7=4тL: 
Mле<е=тK л4т8=Eко9 7D4<<4т8к8 8 
EпоEо5K Eло6оо5D47о64=8O; 
500 лекE8GеEк8E ед8=8F; 
7лоEE4D89 по EпеF84лL=оEт8; 

  О�.01. ОE=о6K л4т8=Eко7о 
O7Kк4 E <ед8F8=Eко9 
теD<8=оло78е9 

ОК 1, 4 - 6, 9 

�К 1.6, 2.3, 
3.1 - 3.6, 

4.1 - 4.5, 

5.1 - 5.4 

у<етL: 
пD8<е=OтL 7=4=8O о EтDое=88 8 
Dу=кF8OE оD74=о6 8 E8Eте< Gело6ек4 
пD8 ок474=88 EеEтD8=Eко9 8 
4куHеDEко-78=еколо78GеEко9 
по<оI8; 
7=4тL: 

  О�.02. �=4то<8O 8 
D878оло78O Gело6ек4 

ОК 1 - 4, 13 

�К 1.2, 1.5, 
2.1 - 2.3, 

3.1 - 3.6, 

4.1 - 4.5, 

5.1 - 5.4 



EтDое=8е Gело6еGеEко7о тел4 8 
Dу=кF8о=4лL=Kе E8Eте<K 
оD74=87<4, 8E Dе7улOF8N 8 
E4<оDе7улOF8N пD8 6748<оде9Eт688 
E 6=еH=е9 EDедо9; 

у<етL: 
опDеделOтL пD87=4к8 т8по6KE 
п4толо78GеEк8E пDоFеEEо6 8 
отделL=KE 745оле64=89 6 оD74=87<е 
Gело6ек4; 
7=4тL: 
о5I8е 74ко=о<еD=оEт8 D4768т8O 
п4толо788 клеток, оD74=о6 8 E8Eте< 6 
оD74=87<е Gело6ек4; 
EтDуктуD=о-Dу=кF8о=4лL=Kе 
74ко=о<еD=оEт8 D4768т8O 8 теGе=8O 
т8по6KE п4толо78GеEк8E пDоFеEEо6 8 
отделL=KE 745оле64=89; 

  О�.03. ОE=о6K п4толо788 ОК 1 - 4, 13 

�К 1.1 - 1.3, 

2.1 - 2.3, 

3.1 - 3.6, 

4.1 - 4.5, 

5.1 - 5.4 

у<етL: 
пDо6од8тL опDоE 8 6еEт8 уGет 
п4F8е=то6 E =4EледEт6е==о9 
п4толо78е9; 
пDо6од8тL 5еEедK по пл4=8Dо64=8N 
Eе<L8 E уGето< 8<еNIе9EO 
=4EледEт6е==о9 п4толо788; 
пDо6од8тL пDед64D8телL=уN 
д847=оEт8ку =4EледEт6е==KE 
5оле7=е9; 
7=4тL: 
58оE8<8GеEк8е 8 F8толо78GеEк8е 
оE=о6K =4EледEт6е==оEт8; 
74ко=о<еD=оEт8 =4Eледо64=8O 

  О�.04. �е=ет8к4 Gело6ек4 E 
оE=о64<8 <ед8F8=Eко9 
7е=ет8к8 

ОК 1 - 4, 8, 9, 11 

�К 1.1, 2.1, 2.2, 
3.1 - 3.3, 4.1, 

5.1 - 5.4 



пD87=4ко6, 68дK 6748<оде9Eт68O 
7е=о6; 
<етодK 87уGе=8O =4EледEт6е==оEт8 
8 87<е=G86оEт8 Gело6ек4 6 =оD<е 8 
п4толо788; 
оE=о6=Kе 68дK 87<е=G86оEт8, 68дK 
<ут4F89 у Gело6ек4, D4ктоDK 
<ут47е=е74; 
оE=о6=Kе 7DуппK =4EледEт6е==KE 
745оле64=89, пD8G8=K 8 <еE4=87<K 
6о7=8к=о6е=8O; 
Fел8, 74д4G8, <етодK 8 пок474=8O к 
<ед8ко-7е=ет8GеEко<у 
ко=EулLт8Dо64=8N; 

у<етL: 
д464тL E4=8т4D=о-7878е=8GеEкуN 
оFе=ку D4ктоD4< окDу64NIе9 
EDедK; 
пDо6од8тL E4=8т4D=о-7878е=8GеEк8е 
<еDопD8Oт8O по EоED4=е=8N 8 
укDепле=8N 7доDо6LO =4Eеле=8O, 
пDедупDе6де=8N 5оле7=е9; 
пDо6од8тL 7878е=8GеEкое о5уGе=8е 8 
6оEп8т4=8е =4Eеле=8O; 
7=4тL: 
Eо6Dе<е==ое EоEтоO=8е 
окDу64NIе9 EDедK 8 7ло54лL=Kе 
Mколо78GеEк8е пDо5ле<K; 
D4ктоDK окDу64NIе9 EDедK, 
6л8ONI8е =4 7доDо6Lе Gело6ек4; 
оE=о6=Kе поло6е=8O 7878е=K; 
7878е=8GеEк8е пD8=F8пK 
оD74=874F88 7доDо6о7о о5D474 

  О�.05. �878е=4 8 Mколо78O 
Gело6ек4 

ОК 1 - 13 

�К 1.2, 1.5, 1.7, 
2.1, 3.1, 3.6, 4.2, 

5.1 - 5.4 



687=8; 
<етодK, DоD<K 8 EDедEт64 
7878е=8GеEко7о 6оEп8т4=8O 
=4Eеле=8O; 

у<етL: 
пDо6од8тL 745оD, тD4=EпоDт8Dо6ку 8 
ED4=е=8е <4теD84л4 длO 
<8кDо58оло78GеEк8E 8EEледо64=89; 
пDо6од8тL пDоEте9H8е 
<8кDо58оло78GеEк8е 8EEледо64=8O; 
д8DDеDе=F8Dо64тL D47=Kе 7DуппK 
<8кDооD74=87<о6 по 8E оE=о6=K< 
E6о9Eт64<; 
оEуIеEт6лOтL пDоD8л4кт8ку 
D4EпDоEтD4=е=8O 8=DекF88; 
7=4тL: 
DолL <8кDооD74=87<о6 6 687=8 
Gело6ек4 8 о5IеEт64; 
<оDDоло78N, D878оло78N 8 
Mколо78N <8кDооD74=87<о6, <етодK 
8E 87уGе=8O; 
оE=о6=Kе <етодK 4Eепт8к8 8 
4=т8Eепт8к8; 
оE=о6K Mп8де<8оло788 
8=DекF8о==KE 5оле7=е9, пут8 
74D46е=8O, лок4л874F8N 
<8кDооD74=87<о6 6 оD74=87<е 
Gело6ек4, оE=о6K E8<8отеD4п88 8 
E8<8опDоD8л4кт8к8 8=DекF8о==KE 
745оле64=89; 
D4ктоDK 8<<у=8тет4, е7о 7=4Gе=8е 
длO Gело6ек4 8 о5IеEт64, пD8=F8пK 
8<<у=опDоD8л4кт8к8 8 

  О�.06. ОE=о6K 
<8кDо58оло788 8 

8<<у=оло788 

ОК 1 - 13 

�К 1.5, 2.3, 
3.1, 3.3, 3.6, 

4.2, 5.1 - 5.4 



8<<у=отеD4п88 5оле7=е9 Gело6ек4, 
пD8<е=е=8е 8<<у=оло78GеEк8E 
Dе4кF89 6 <ед8F8=Eко9 пD4кт8ке; 

у<етL: 
6Kп8EK64тL лек4DEт6е==Kе DоD<K 6 
68де DеFепт4 E 8EполL7о64=8е< 
EпD46оG=о9 л8теD4туDK; 
=4Eод8тL E6еде=8O о лек4DEт6е==KE 
пDеп4D4т4E 6 доEтуп=KE 5474E 
д4==KE; 
оD8е=т8Dо64тLEO 6 =о<е=кл4туDе 
лек4DEт6е==KE EDедEт6; 
пD8<е=OтL лек4DEт6е==Kе EDедEт64 
по =47=4Gе=8N 6D4G4; 
д464тL Dеко<е=д4F88 п4F8е=ту по 
пD8<е=е=8N D47л8G=KE 
лек4DEт6е==KE EDедEт6; 
7=4тL: 
лек4DEт6е==Kе DоD<K, пут8 
66еде=8O лек4DEт6е==KE EDедEт6, 
68дK 8E де9Eт68O 8 6748<оде9Eт68O; 
оE=о6=Kе лек4DEт6е==Kе 7DуппK 8 
D4D<4котеD4пе6т8GеEк8е де9Eт68O 
лек4DEт6 по 7Dупп4<; 
по5оG=Kе MDDектK, 68дK Dе4кF89 8 
оEло6=е=89 лек4DEт6е==о9 теD4п88; 
пD468л4 74пол=е=8O DеFептуD=KE 
5л4=ко6; 

  О�.07. $4D<4коло78O ОК 1, 4, 9 

�К 1.6, 1.7, 
2.1 - 2.3, 

3.2, 3.4, 3.5, 

4.1 - 4.7, 

5.1 - 5.4 

у<етL: 
MDDект86=о D45от4тL 6 ко<4=де; 
8EполL7о64тL 6еD54лL=Kе 8 
=е6еD54лL=Kе EDедEт64 о5Iе=8O 6 

  О�.08. �E8Eоло78O ОК 1 - 3, 6 - 7, 11 

- 13 

�К 1.1 - 1.5, 1.7, 

2.1 - 2.3, 



пE8EотеD4пе6т8GеEк8E FелOE; 
уDе7ул8Dо64тL 8 D47DеH4тL 
ко=Dл8кт=Kе E8ту4F88; 
ок47K64тL пE8Eоло78GеEкуN по<оIL 
пD8 EтDеEE4E; 
7=4тL: 
пE8Eоло78N л8G=оEт8; 
Dу=кF88 8 EDедEт64 о5Iе=8O; 
пут8 D47DеHе=8O EтDеEEо6KE 
E8ту4F89 8 ко=Dл8кто6; 
т8поло78N <е6л8G=оEт=KE 
от=оHе=89; 

3.1 - 3.7, 

4.1 - 4.7, 

5.1 - 5.4, 

6.3, 6.7 

у<етL: 
8EполL7о64тL =ео5Eод8<Kе 
=оD<4т86=Kе пD46о6Kе 4ктK; 
74I8I4тL E6о8 пD464 6 Eоот6етEт688 
E 7D46д4=Eк8<, 7D46д4=Eк8< 
пDоFеEEу4лL=K< 8 тDудо6K< 
74ко=од4телLEт6о<; 
4=4л878Dо64тL 8 оFе=864тL 
Dе7улLт4тK 8 поEледEт68O 
деOтелL=оEт8 (5е7де9Eт68O) E 
пD46о6о9 тоGк8 7Dе=8O; 
7=4тL: 
оE=о6=Kе поло6е=8O Ко=Eт8туF88 
 оEE89Eко9 $едеD4F88; 
пD464 8 E6о5одK Gело6ек4 8 
7D46д4=8=4, <еE4=87<K 8E 
Dе4л874F88; 
по=Oт8е пD46о6о7о Dе7ул8Dо64=8O 6 
EDеDе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
74ко=од4телL=Kе 4ктK 8 дDу78е 

  О�.09. �D46о6ое о5еEпеGе=8е 
пDоDеEE8о=4лL=о9 
деOтелL=оEт8 

ОК 1 - 4, 8 

�К 1.7, 3.4 



=оD<4т86=Kе пD46о6Kе 4ктK, 
Dе7ул8DуNI8е пD46оот=оHе=8O 6 
пDоFеEEе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
оD74=874F8о==о-пD46о6Kе DоD<K 
ND8д8GеEк8E л8F; 
пD46о6ое поло6е=8е Eу5Jекто6 
пDедпD8=8<4телLEко9 деOтелL=оEт8; 
пD464 8 о5O74==оEт8 D45от=8ко6 6 
EDеDе пDоDеEE8о=4лL=о9 
деOтелL=оEт8; 
поDOдок 74клNGе=8O тDудо6о7о 
до7о6оD4 8 оE=о64=8O е7о 
пDекD4Iе=8O; 
пD468л4 опл4тK тDуд4; 
DолL 7оEуд4DEт6е==о7о 
Dе7ул8Dо64=8O 6 о5еEпеGе=88 
74=OтоEт8 =4Eеле=8O; 
пD46о EоF84лL=о9 74I8тK 7D46д4=; 
по=Oт8е д8EF8пл8=4D=о9 8 
<4теD84лL=о9 от6етEт6е==оEт8 
D45от=8к4; 
68дK 4д<8=8EтD4т86=KE 
пD46о=4DуHе=89 8 
4д<8=8EтD4т86=о9 от6етEт6е==оEт8; 
=оD<K 74I8тK =4DуHе==KE пD46 8 
Eуде5=K9 поDOдок D47DеHе=8O 
EпоDо6; 

у<етL: 
8EполL7о64тL луGH89 отеGеEт6е==K9 
8 74Dу5е6=K9 опKт оD74=874F88 
4куHеDEко7о дел4; 
D4EEG8тK64тL 8 4=4л878Dо64тL 

  О�.10. О5IеEт6е==ое 
7доDо6Lе 8 7дD46ооED4=е=8е 

ОК 1, 2, 4, 8, 10 

�К 1.1, 2.1, 2.2, 
3.1 - 3.6, 

5.1 - 5.4 



пок474тел8 о5IеEт6е==о7о 7доDо6LO 
=4Eеле=8O; 
7=4тL: 
пок474тел8 о5IеEт6е==о7о 7доDо6LO 
=4Eеле=8O, <етод8ку 8E D4EGет4 8 
4=4л874; 
D4ктоDK, детеD<8=8DуNI8е 
7доDо6Lе; 
<ед8ко-EоF84лL=Kе 4EпектK 
де<о7D4D88; 
7оEуд4DEт6е==уN E8Eте<у оED4=K 
<4теD8=Eт64 8 детEт64; 
пеD68G=уN уGет=уN <ед8F8=EкуN 
доку<е=т4F8N, 8EполL7уе<уN 6 
уGDе6де=8OE оED4=K <4теD8=Eт64 8 
детEт64; 
D45оту 4куHеDк8 =4 DелLдHеDEко-
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D45оту по поло6о<у 6оEп8т4=8N 
подDоEтко6 8 EоED4=е=8N 
DепDодукт86=о7о 7доDо6LO. 

��.04 �ед8F8=Eк4O по<оIL 6е=I8=е, 
=о6оDо6де==о<у, Eе<Lе пD8 
п4толо78GеEко< теGе=88 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
пDо6еде=8O, о5Eледо64=8O, уEод4, 
=45лNде=8O 8 6еде=8O 5еDе<е==KE, 
Dо6е=8F, Dод8лL=8F, 6 EлуG4е 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788 под Dуко6одEт6о< 6D4G4; 
ок474=8O до6D4Gе5=о9 по<оI8 
5еDе<е==о9, Dо6е=8Fе, Dод8лL=8Fе 
пD8 4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 
ок474=8O леGе5=о-д847=оEт8GеEко9 8 
пDоD8л4кт8GеEко9 по<оI8 5олL=K< 
=о6оDо6де==K< под Dуко6одEт6о< 

  ��К.04.01. �4толо78GеEкое 
4куHеDEт6о 

ОК 1 - 13 

�К 4.1 - 4.7 

��К.04.02. �еотло6=Kе 
EоEтоO=8O 6 4куHеDEт6е 

��К.04.03. !еEтD8=Eк89 уEод 
74 5олL=K< =о6оDо6де==K< 

��К.04.04. ОпеD4т86=Kе 
6<еH4телLEт64 6 4куHеDEт6е 



6D4G4; 
ок474=8O до6D4Gе5=о9 по<оI8 
=о6оDо6де==о<у пD8 =еотло6=KE 
EоEтоO=8OE; 
4EE8Eт8Dо64=8O 6D4Gу пD8 
4куHеDEк8E опеD4F8OE 6 пDедел4E 
E6о8E пол=о<оG89; 
6Kпол=е=8O 4куHеDEк8E опеD4F89: 
пеD8=еото<88, Mп878ото<88, 
пеD8=еоDD4D88, Mп878оDD4D88, 
6оEEт4=о6ле=8O D47DK6о6 6улL6K, 
6л474л8I4, D47DK6о6 Hе9к8 <4тк8, 
пDо<е6=оEт8 1 - 2 Eтепе=8; 
уEод4, =45лNде=8O 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
у<етL: 
пDо6од8тL о5Eледо64=8е, 
=45лNде=8е 8 уEод 74 6е=I8=4<8 E 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо78е9 под Dуко6одEт6о< 6D4G4; 
пDо6од8тL 4куHеDEк8е поEо58O =4 
D4=то<4E пD8 п4толо78GеEк8E Dод4E; 
ок474тL до6D4Gе5=уN по<оIL 
5еDе<е==о9, Dо6е=8Fе, Dод8лL=8Fе 
пD8 4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 
оEуIеEт6лOтL уEод 74 п4F8е=то< 6 
пеD8опеD4т86=о< пеD8оде; 
оD74=87о6K64тL 8 пDо6од8тL 
пDоD8л4кт8ку 4куHеDEко9 
п4толо788, <4теD8=Eко9 8 
пеD8=4т4лL=о9 745оле64е<оEт8 8 
E<еDт=оEт8; 



оEуIеEт6лOтL уEод 74 5олL=K< 
=о6оDо6де==K<; 
оEуIеEт6лOтL 8 ко=тDол8Dо64тL 
к4GеEт6о уEод4 74 =едо=оHе==K< 
=о6оDо6де==K< 8 74 детL<8 E 
MкEтDе<4лL=о =87ко9 <4EEо9 тел4 
пD8 Dо6де=88 (500 - 1000 7D4<<); 
6Kпол=OтL 8 ко=тDол8Dо64тL 
к4GеEт6о 6Kпол=е=8O <ед8F8=Eк8E 
уEлу7 6 =ео=4толо788; 
ок47K64тL до6D4Gе5=уN по<оIL 
=о6оDо6де==K< пD8 =еотло6=KE 
EоEтоO=8OE; 
4EE8Eт8Dо64тL 6D4Gу пD8 4куHеDEк8E 
опеD4F8OE 6 пDедел4E E6о8E 
пол=о<оG89; 
6Kпол=OтL 4куHеDEк8е опеD4F88: 
пеD8=еото<88, Mп878ото<88, 
пеD8=еоDD4D88, Mп878оDD4D88, 
6оEEт4=о6ле=8O D47DK6о6 6улL6K, 
6л474л8I4, D47DK6о6 Hе9к8 <4тк8, 
пDо<е6=оEт8 1 - 2 Eтепе=8; 
ок47K64тL по<оIL п4F8е=ту 6 
пеD8опеD4т86=о< пеD8оде; 
7=4тL: 
68дK 4куHеDEко9 п4толо788; 
оEо5е==оEт8 теGе=8O 8 6еде=8O 
5еDе<е==оEт8, Dодо6, 
поEлеDодо6о7о пеD8од4 =4 Dо=е 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 
п4толо788; 
ко=EеD64т86=Kе <етодK леGе=8O 
4куHеDEко9 8 MкEтD47е=8т4лL=о9 



п4толо788; 
=еотло6=Kе EоEтоO=8O 6 4куHеDEт6е; 
до6D4Gе5=уN по<оIL пD8 
=еотло6=KE EоEтоO=8OE 6 
4куHеDEт6е; 
745оле64=8O пеD8од4 
=о6оDо6де==оEт8, 8E пDоO6ле=8O у 
=о6оDо6де==KE пD8 D47л8G=о9 
Eтепе=8 7DелоEт8; 
пDедD4Eпол474NI8е D4ктоDK, 
кл8=8ку, д847=оEт8ку, пD8=F8пK 
теD4п88, оEло6=е=8O, пDоD8л4кт8ку 
745оле64=89 =о6оDо6де==KE; 
=еотло6=Kе EоEтоO=8O у 
=о6оDо6де==KE; 
до6D4Gе5=уNпо<оIL пD8 
=еотло6=KE EоEтоO=8OE у 
=о6оDо6де==KE; 
пD87=4к8 =едо=оHе==оEт8 Dе5е=к4; 
Mт4пK 6KE46864=8O 8 пD8=F8пK 
теD4п88 =едо=оHе==KE дете9; 
оEо5е==оEт8 64кF8=4F88 пDот86 
ту5еDкуле74 (�&�) =едо=оHе==KE 
дете9; 
оEо5е==оEт8 уEод4 74 детL<8 E 
MкEтDе<4лL=о =87ко9 <4EEо9 тел4 
пD8 Dо6де=88 (500 - 1000 7D4<<); 
68дK 4куHеDEк8E опеD4F89; 
пок474=8O, пDот86опок474=8O, 
уEло68O длO пDо6еде=8O 4куHеDEк8E 
опеD4F89; 
<етодK о5е75ол864=8O 4куHеDEк8E 
опеD4F89; 



пеD8опеD4т86=уN по<оIL 8 теE=8ку 
4куHеDEк8E опеD4F89; 
оEло6=е=8O 6 поEлеопеD4F8о==о< 
пеD8оде; 
<етодK пDоD8л4кт8к8 оEло6=е=89 6 
поEлеопеD4F8о==о< пеD8оде; 
8==о64F8о==Kе <ед8F8=Eк8е 
теE=оло788 6 опеD4т86=о< 
4куHеDEт6е. 

��.05 �KEокотеE=оло78G=4O <ед8F8=Eк4O 
по<оIL 5еDе<е==K<, Dо6е=8F4<, 
Dод8лL=8F4< 8 =о6оDо6де==K< 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
уG4Eт8O 6 ок474=88 
6KEокотеE=оло78G=о9 <ед8F8=Eко9 
по<оI8 5еDе<е==K<, Dо6е=8F4<, 
Dод8лL=8F4< 87 7Dупп 6KEоко9 
Eтепе=8 D8Eк4 8 =о6оDо6де==K< 
под Dуко6одEт6о< 6D4G4; 
уG4Eт8O 6 пDо6еде=88 =ео=4т4лL=о7о 
8 4уд8оло78GеEко7о EкD8=8=74 под 
Dуко6одEт6о< 6D4G4; 
уG4Eт8O 6 D47D45отке 8 6=едDе=8N 
пDоD8л4кт8GеEк8E пDо7D4<< по 
E=86е=8N <4теD8=Eко9 8 
пеD8=4т4лL=о9 745оле64е<оEт8 8 
E<еDт=оEт8; 
у<етL: 
ок47K64тL 6KEокотеE=оло78G=уN 
<ед8F8=EкуN по<оIL 5еDе<е==K<, 

  ��К.05.01. �о6Kе теE=оло788 
6 4куHеDEт6е 8 =ео=4толо788 

ОК 1 - 13 

�К 5.1 - 5.4 



Dо6е=8F4<, Dод8лL=8F4< 87 7Dупп 
6KEоко9 Eтепе=8 D8Eк4 8 
=о6оDо6де==K< под Dуко6одEт6о< 
6D4G4; 
пDо6од8тL =ео=4т4лL=K9 8 
4уд8оло78GеEк89 EкD8=8=7 под 
Dуко6одEт6о< 6D4G4; 
7=4тL: 
оD74=874F8N D45отK пеD8=4т4лL=KE 
Fе=тDо6; 
пDоD8л4кт8GеEк8е пDо7D4<<K, 
=4пD46ле==Kе =4 E=86е=8е 
<4теD8=Eко9 8 пеD8=4т4лL=о9 
745оле64е<оEт8 8 E<еDт=оEт8; 
пеD8=4т4лL=Kе теE=оло788, 
пDедупDе6д4NI8е оEло6=е=8O 
5еDе<е==оEт8, Dодо6, п4толо78N 
D4768т8O плод4 8 =о6оDо6де==о7о; 
6еде=8е 5еDе<е==оEт8 7DуппK 
6KEоко9 Eтепе=8 D8Eк4; 
Eо6Dе<е==Kе 6KEокотеE=оло78G=Kе 
<етодK д847=оEт8к8 
6=утD8утDо5=о7о EоEтоO=8O плод4. 

��.06 ОD74=874F8O 8 упD46ле=8е 
пеDEо=4ло< 4куHеDEко-

78=еколо78GеEко9 Eлу65K 6 
уGDе6де=8OE 7дD46ооED4=е=8O 

� Dе7улLт4те 87уGе=8O 
пDоDеEE8о=4лL=о7о <одулO 
о5уG4NI89EO дол6е=: 
8<етL пD4кт8GеEк89 опKт: 
упD46ле=8O 4куHеDEк8<, 
EеEтD8=Eк8<, <л4дH8< 

  ��К.06.01. &еоD8O 
упD46ле=8O, <е=ед6<е=т 8 
<4Dкет8=7 6 7дD46ооED4=е=88 

ОК 1 - 13 

�К 6.1 - 6.6 

��К.06.02. ОE=о6K 
делопDо876одEт64 

��К.06.03. ОD74=874F8O 
D45отK DелLдHеDEко-

4куHеDEко7о пу=кт4 



<ед8F8=Eк8<, 6Eпо<о74телL=K< 8 
теE=8GеEк8< пеDEо=4ло<; 
оE=о6 делопDо876одEт64; 
к4дDо6о9 D45отK; 
у<етL: 
оD74=87о6K64тL 8 ко=тDол8Dо64тL 
тDудо6уN деOтелL=оEтL 
подG8=е==о7о EDед=е7о, <л4дHе7о 
<ед8F8=Eко7о, 6Eпо<о74телL=о7о 8 
теE=8GеEко7о пеDEо=4л4; 
оEуIеEт6лOтL ко=тDолL к4GеEт64 
ок474=8O <ед8F8=Eко9 по<оI8 
EDед=8< <ед8F8=Eк8< пеDEо=4ло<; 
оD74=87о6K64тL 8 ко=тDол8Dо64тL 
=4дле64I89 D4D<4коло78GеEк89 
поDOдок 6 уGDе6де=8OE 
7дD46ооED4=е=8O (EтDуктуD=о< 
подD47деле=88); 
оD74=87о6K64тL 8 пDо6од8тL 74=Oт8O 
по по6KHе=8N к64л8D8к4F88 
EDед=е7о <ед8F8=Eко7о пеDEо=4л4; 
6=едDOтL 8==о64F8о==Kе 
теE=оло788 6 деOтелL=оEтL EDед=е7о 
<ед8F8=Eко7о пеDEо=4л4; 
8EполL7о64тL =оD<4т86=уN 
пD46о6уN доку<е=т4F8N, 
Dе7л4<е=т8DуNIуN 
пDоDеEE8о=4лL=уN деOтелL=оEтL; 
оD74=87о6K64тL D45оту 
DелLдHеDEко-4куHеDEко7о пу=кт4; 
7=4тL: 
оD74=874F8N D45отK уGDе6де=89, 
ок47K64NI8E 4куHеDEкуN, 



78=еколо78GеEкуN по<оIL; 
<одел8 упD46ле=8O к4GеEт6о< 
4куHеDEко9 деOтелL=оEт8 6 
 оEE89Eко9 $едеD4F88; 
<еE4=87<K упD46ле=8O; 
пD8=F8пK 8 <етодK упD46ле=8O 
(оD74=874F8о==ое 
Dе7л4<е=т8Dо64=8е, =оD<8Dо64=8е, 
оD74=874F8о==о-<етод8GеEкое 
8=EтDукт8Dо64=8е); 
оD74=874F8о==о-D4EпоDOд8телL=Kе 
(4д<8=8EтD4т86=Kе), EоF84лL=о-

пE8Eоло78GеEк8е <етодK 
упD46ле=8O; 
E4D4ктеD8Eт8ку оE=о6=KE 
=4пD46ле=89 упD46ле=GеEко9 
деOтелL=оEт8; 
6оEп8т4телL=уN D45оту, EоF84лL=о-

5Kто6уN 8 пD46о6уN 74I8ту 
EDед=е7о 8 <л4дHе7о <ед8F8=Eко7о 
пеDEо=4л4; 
уDо6=8 ко=тDолO деOтелL=оEт8 
EDед=е7о <ед8F8=Eко7о пеDEо=4л4; 
кD8теD88 оFе=к8 к4GеEт64 D45отK 
EDед=е7о <ед8F8=Eко7о пеDEо=4л4 
уGDе6де=89 7дD46ооED4=е=8O; 
л8деDEт6о 6 4куHеDEко< деле, 
теоDет8GеEк8е 8 пD4кт8GеEк8е 
4EпектK; 
оE=о6K <е=ед6<е=т4; 
1т8GеEк89 кодекE 4куHеDк8 
 оEE89Eко9 $едеD4F88; 
E8Eте<у по6KHе=8O к64л8D8к4F88 



EDед=е7о <ед8F8=Eко7о пеDEо=4л4; 
оD74=874F8N 8 пл4=8Dо64=8е 
D45отK Dуко6од8теле9 (7л46=о9, 
Eт4DHе9 4куHеDк8); 
оE=о6K делопDо876одEт64; 
D45оту E 8=EтDукт86=о-=оD<4т86=о9, 
пеD68G=о9 <ед8F8=Eко9 
доку<е=т4F8е9; 
к4дDо6уN D45оту (опл4ту тDуд4, 
Hт4т=ое D4Eп8E4=8е, тDудо6о9 
до7о6оD). 

��.07 �Kпол=е=8е D45от по од=о9 8л8 
=еEколLк8< пDоDеEE8O< D45оG8E, 
дол6=оEтO< Eлу64I8E 

    

 �4D84т86=4O G4EтL уGе5=KE F8кло6 
��!!� 

(опDеделOетEO о5D47о64телL=о9 
оD74=874F8е9 E4<оEтоOтелL=о) 

1944 1296   

 �Eе7о G4Eо6 о5уGе=8O по уGе5=K< 
F8кл4< ��!!� 

6534 4356   

'�.00 'Gе5=4O пD4кт8к4 

29 =ед. 1044 

 ОК 1 - 13 

�К 1.1 - 6.6 
��.00 �Dо876одEт6е==4O пD4кт8к4 (по 

пDоD8лN EпеF84лL=оEт8) 

���.00 �Dо876одEт6е==4O пD4кт8к4 
(пDедд8пло<=4O) 

4 =ед.    

��.00 �Dо<е6утоG=4O 4ттеEт4F8O 6 =ед.    

���.00 �оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O 6 =ед.    



���.01 �од7ото6к4 6KпуEк=о9 
к64л8D8к4F8о==о9 D45отK 

4 =ед.    

���.02 �4I8т4 6KпуEк=о9 
к64л8D8к4F8о==о9 D45отK 

2 =ед.    



 

&45л8F4 6 

 

!Dок полуGе=8O !�О по ��!!� у7лу5ле==о9 под7ото6к8 6 оG=о9 DоD<е о5уGе=8O EоEт46лOет 199 =еделL, 6 то< G8Eле: 
 

О5уGе=8е по уGе5=K< F8кл4< 121 =ед. 

'Gе5=4O пD4кт8к4 29 =ед. 

�Dо876одEт6е==4O пD4кт8к4 (по пDоD8лN EпеF84лL=оEт8) 

�Dо876одEт6е==4O пD4кт8к4 (пDедд8пло<=4O) 4 =ед. 

�Dо<е6утоG=4O 4ттеEт4F8O 6 =ед. 

�оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O 6 =ед. 

К4=8кулK 33 =ед. 

�то7о 199 =ед. 



 

VII. & ��О����/ К '!ЛО��/�  ��Л���&�� � О� ���/ �О��О&О�К� 

!��&��Л�!&О� ! �����О ����� 

 

7.1. О5D47о64телL=4O оD74=874F8O E4<оEтоOтелL=о D47D454тK64ет 8 ут6еD6д4ет ��!!� 6 
Eоот6етEт688 E $�О! !�О 8 E уGето< Eоот6етEт6уNIе9 пD8<еD=о9 ��!!�. 

�еDед =4G4ло< D47D45отк8 ��!!� о5D47о64телL=4O оD74=874F8O дол6=4 опDедел8тL ее 
EпеF8D8ку E уGето< =4пD46ле==оEт8 =4 удо6лет6оDе=8е потDе5=оEте9 DK=к4 тDуд4 8 
D45отод4теле9, ко=кDет878Dо64тL ко=еG=Kе Dе7улLт4тK о5уGе=8O 6 68де ко<пете=F89, у<е=89 8 
7=4=89, пD8о5Dет4е<о7о пD4кт8GеEко7о опKт4. 

Ко=кDет=Kе 68дK деOтелL=оEт8, к котоDK< 7ото68тEO о5уG4NI89EO, дол6=K 
Eоот6етEт6о64тL пD8E64864е<о9 к64л8D8к4F88, опDеделOтL EодеD64=8е о5D47о64телL=о9 
пDо7D4<<K, D47D454тK64е<о9 о5D47о64телL=о9 оD74=874F8е9 Eо6<еEт=о E 748=теDеEо64==K<8 
D45отод4телO<8. 

�D8 DоD<8Dо64=88 ��!!� о5D47о64телL=4O оD74=874F8O: 

8<еет пD46о 8EполL7о64тL о5Jе< 6Dе<е=8, от6еде==K9 =4 64D84т86=уN G4EтL уGе5=KE 
F8кло6 ��!!�, у6ел8G864O пD8 Mто< о5Jе< 6Dе<е=8, от6еде==K9 =4 д8EF8пл8=K 8 <одул8 
о5O74телL=о9 G4Eт8, л85о 66одO =о6Kе д8EF8пл8=K 8 <одул8 6 Eоот6етEт688 E потDе5=оEтO<8 
D45отод4теле9 8 EпеF8D8ко9 деOтелL=оEт8 о5D47о64телL=о9 оD74=874F88; 

8<еет пD46о опDеделOтL длO оE6ое=8O о5уG4NI8<8EO 6 D4<к4E пDоDеEE8о=4лL=о7о <одулO 
пDоDеEE8N D45оGе7о, дол6=оEтL Eлу64Iе7о (од=у 8л8 =еEколLко) Eо7л4E=о пD8ло6е=8N к 
=4EтоOIе<у $�О! !�О; 

о5O74=4 е6е7од=о о5=о6лOтL ��!!� E уGето< 74пDоEо6 D45отод4теле9, оEо5е==оEте9 
D4768т8O Dе78о=4, кулLтуDK, =4ук8, Mко=о<8к8, теE=8к8, теE=оло789 8 EоF84лL=о9 EDеDK 6 
D4<к4E, уEт4=о6ле==KE =4EтоOI8< $�О! !�О; 

о5O74=4 6 D45оG8E уGе5=KE пDо7D4<<4E 6EеE д8EF8пл8= 8 пDоDеEE8о=4лL=KE <одуле9 Gетко 
DоD<ул8Dо64тL тDе5о64=8O к Dе7улLт4т4< 8E оE6ое=8O: ко<пете=F8O<, пD8о5Dет4е<о<у 
пD4кт8GеEко<у опKту, 7=4=8O< 8 у<е=8O<; 

о5O74=4 о5еEпеG864тL MDDект86=уN E4<оEтоOтелL=уN D45оту о5уG4NI8EEO 6 EоGет4=88 E 
Eо6еDHе=Eт6о64=8е< упD46ле=8O еN Eо EтоDо=K пDепод464теле9 8 <4EтеDо6 пDо876одEт6е==о7о 
о5уGе=8O; 

о5O74=4 о5еEпеG864тL о5уG4NI8<EO 6о7<о6=оEтL уG4Eт6о64тL 6 DоD<8Dо64=88 
8=д868ду4лL=о9 о5D47о64телL=о9 пDо7D4<<K; 

о5O74=4 DоD<8Dо64тL EоF8окулLтуD=уN EDеду, Eо7д464тL уEло68O, =ео5Eод8<Kе длO 
6EеEтоDо==е7о D4768т8O 8 EоF84л874F88 л8G=оEт8, EоED4=е=8O 7доDо6LO о5уG4NI8EEO, 
EпоEо5Eт6о64тL D4768т8N 6оEп8т4телL=о7о ко<по=е=т4 о5D47о64телL=о7о пDоFеEE4, 6клNG4O 
D4768т8е Eтуде=GеEко7о E4<оупD46ле=8O, уG4Eт8е о5уG4NI8EEO 6 D45оте о5IеEт6е==KE 
оD74=874F89, EпоDт86=KE 8 т6оDGеEк8E клу5о6; 

дол6=4 пDедуE<4тD864тL 6 FелOE Dе4л874F88 ко<пете=т=оEт=о7о подEод4, 8EполL7о64=8е 6 
о5D47о64телL=о< пDоFеEEе 4кт86=KE 8 8=теD4кт86=KE DоD< пDо6еде=8O 74=Oт89 (ко<пLNтеD=KE 
E8<улOF89, дело6KE 8 Dоле6KE 87D, D475оD4 ко=кDет=KE E8ту4F89, пE8Eоло78GеEк8E 8 8=KE 
тDе=8=7о6, 7Dуппо6KE д8EкуEE89) 6 EоGет4=88 E 6=е4уд8тоD=о9 D45ото9 длO DоD<8Dо64=8O 8 
D4768т8O о5I8E 8 пDоDеEE8о=4лL=KE ко<пете=F89 о5уG4NI8EEO. 

7.2. �D8 Dе4л874F88 ��!!� о5уG4NI8еEO 8<еNт 4к4де<8GеEк8е пD464 8 о5O74==оEт8 6 



Eоот6етEт688 E $едеD4лL=K< 74ко=о< от 29 дек45DO 2012 7. N 273-$� "О5 о5D47о64=88 6 
 оEE89Eко9 $едеD4F88" <1>. 

-------------------------------- 

<1> !о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2012, N 53, Eт. 7598; 2013, N 19, Eт. 
2326; N 23, Eт. 2878; N 27, Eт. 3462; N 30, Eт. 4036; N 48, Eт. 6165; 2014, N 6, Eт. 562, Eт. 566; N 19, Eт. 
2289; N 22, Eт. 2769; N 23, Eт. 2933; N 26, Eт. 3388; N 30, Eт. 4263. 

 

7.3. �4кE8<4лL=K9 о5Jе< уGе5=о9 =47Dу7к8 о5уG4NIе7оEO EоEт46лOет 54 4к4де<8GеEк8E 
G4E4 6 =еделN, 6клNG4O 6Eе 68дK 4уд8тоD=о9 8 6=е4уд8тоD=о9 уGе5=о9 =47Dу7к8. 

7.4. �4кE8<4лL=K9 о5Jе< 4уд8тоD=о9 уGе5=о9 =47Dу7к8 6 оG=о9 DоD<е о5уGе=8O 
EоEт46лOет 36 4к4де<8GеEк8E G4Eо6 6 =еделN. 

7.5. О5I4O пDодол68телL=оEтL к4=8кул 6 уGе5=о< 7оду дол6=4 EоEт46лOтL 8 - 11 =еделL, 6 
то< G8Eле =е <е=ее 2-E =еделL 6 78<=89 пеD8од. 

7.6. �Kпол=е=8е куDEо6о7о пDоект4 (D45отK) D4EE<4тD864етEO к4к 68д уGе5=о9 деOтелL=оEт8 
по д8EF8пл8=е (д8EF8пл8=4<) пDоDеEE8о=4лL=о7о уGе5=о7о F8кл4 8 (8л8) пDоDеEE8о=4лL=о<у 
<одулN (<одулO<) пDоDеEE8о=4лL=о7о уGе5=о7о F8кл4 8 Dе4л87уетEO 6 пDедел4E 6Dе<е=8, 
от6еде==о7о =4 ее (8E) 87уGе=8е. 

7.7. �8EF8пл8=4 "$878GеEк4O кулLтуD4" пDедуE<4тD864ет е6е=еделL=о 2 G4E4 о5O74телL=KE 
4уд8тоD=KE 74=Oт89 8 2 G4E4 E4<оEтоOтелL=о9 D45отK (74 EGет D47л8G=KE DоD< 6=е4уд8тоD=KE 
74=Oт89 6 EпоDт86=KE клу54E, EекF8OE). 

7.8. О5D47о64телL=4O оD74=874F8O 8<еет пD46о длO под7Dупп де6уHек 8EполL7о64тL G4EтL 
уGе5=о7о 6Dе<е=8 д8EF8пл8=K "�е7оп4E=оEтL 687=едеOтелL=оEт8" (48 G4Eо6), от6еде==о7о =4 
87уGе=8е оE=о6 6ое==о9 Eлу65K, =4 оE6ое=8е оE=о6 <ед8F8=Eк8E 7=4=89. 

7.9. �олуGе=8е !�О =4 547е оE=о6=о7о о5Iе7о о5D47о64=8O оEуIеEт6лOетEO E 
од=о6Dе<е==K< полуGе=8е< EDед=е7о о5Iе7о о5D47о64=8O 6 пDедел4E ��!!�. � Mто< EлуG4е 
��!!�, Dе4л87уе<4O =4 547е оE=о6=о7о о5Iе7о о5D47о64=8O, D47D454тK64етEO =4 оE=о6е 
тDе5о64=89 Eоот6етEт6уNI8E DедеD4лL=KE 7оEуд4DEт6е==KE о5D47о64телL=KE Eт4=д4Dто6 
EDед=е7о о5Iе7о о5D47о64=8O 8 !�О E уGето< полуG4е<о9 EпеF84лL=оEт8 !�О. 

!Dок оE6ое=8O ��!!� 6 оG=о9 DоD<е о5уGе=8O длO л8F, о5уG4NI8EEO =4 547е оE=о6=о7о 
о5Iе7о о5D47о64=8O, у6ел8G864етEO =4 52 =едел8 87 D4EGет4: 
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теоDет8GеEкое о5уGе=8е 

(пD8 о5O74телL=о9 уGе5=о9 =47Dу7ке 36 G4Eо6 6 =еделN) 39 =ед. 

пDо<е6утоG=4O 4ттеEт4F8O 2 =ед. 

к4=8кулK 11 =ед. 



 

7.10. Ко=EулLт4F88 длO о5уG4NI8EEO по оG=о9 DоD<е о5уGе=8O пDедуE<4тD864NтEO 
о5D47о64телL=о9 оD74=874F8е9 87 D4EGет4 4 G4E4 =4 од=о7о о5уG4NIе7оEO =4 к46дK9 уGе5=K9 
7од, 6 то< G8Eле 6 пеD8од Dе4л874F88 о5D47о64телL=о9 пDо7D4<<K EDед=е7о о5Iе7о о5D47о64=8O 
длO л8F, о5уG4NI8EEO =4 547е оE=о6=о7о о5Iе7о о5D47о64=8O. $оD<K пDо6еде=8O ко=EулLт4F89 
(7Dуппо6Kе, 8=д868ду4лL=Kе, п8EL<е==Kе, уEт=Kе) опDеделONтEO о5D47о64телL=о9 
оD74=874F8е9. 

7.11. � пеD8од о5уGе=8O E N=оH4<8 пDо6одOтEO уGе5=Kе E5оDK <1>. 

-------------------------------- 

<1> �у=кт 1 Eт4тL8 13 $едеD4лL=о7о 74ко=4 от 28 <4Dт4 1998 7. N 53-$� "О 6о8=Eко9 

о5O74==оEт8 8 6ое==о9 Eлу65е" (!о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 1998, N 13, 
Eт. 1475; N 30, Eт. 3613; 2000, N 33, Eт. 3348; N 46, Eт. 4537; 2001, N 7, Eт. 620, Eт. 621; N 30, Eт. 3061; 
2002, N 7, Eт. 631; N 21, Eт. 1919; N 26, Eт. 2521; N 30, Eт. 3029, Eт. 3030, Eт. 3033; 2003, N 1, Eт. 1; N 8, 
Eт. 709; N 27, Eт. 2700; N 46, Eт. 4437; 2004, N 8, Eт. 600; N 17, Eт. 1587; N 18, Eт. 1687; N 25, Eт. 2484; N 
27, Eт. 2711; N 35, Eт. 3607; N 49, Eт. 4848; 2005, N 10, Eт. 763; N 14, Eт. 1212; N 27, Eт. 2716; N 29, Eт. 
2907; N 30, Eт. 3110, Eт. 3111; N 40, Eт. 3987; N 43, Eт. 4349; N 49, Eт. 5127; 2006, N 1, Eт. 10, Eт. 22; N 
11, Eт. 1148; N 19, Eт. 2062; N 28, Eт. 2974; N 29, Eт. 3121, Eт. 3122, Eт. 3123; N 41, Eт. 4206; N 44, Eт. 
4534; N 50, Eт. 5281; 2007, N 2, Eт. 362; N 16, Eт. 1830; N 31, Eт. 4011; N 45, Eт. 5418; N 49, Eт. 6070, Eт. 
6074; N 50, Eт. 6241; 2008, N 30, Eт. 3616; N 49, Eт. 5746; N 52, Eт. 6235; 2009, N 7, Eт. 769; N 18, Eт. 
2149; N 23, Eт. 2765; N 26, Eт. 3124; N 48, Eт. 5735, Eт. 5736; N 51, Eт. 6149; N 52, Eт. 6404; 2010, N 11, 
Eт. 1167, Eт. 1176, Eт. 1177; N 31, Eт. 4192; N 49, Eт. 6415; 2011, N 1, Eт. 16; N 27, Eт. 3878; N 30, Eт. 
4589; N 48, Eт. 6730; N 49, Eт. 7021, Eт. 7053, Eт. 7054; N 50, Eт. 7366; 2012, N 50, Eт. 6954; N 53, Eт. 
7613; 2013, N 9, Eт. 870; N 19, Eт. 2329; Eт. 2331; N 23, Eт. 2869; N 27, Eт. 3462, Eт. 3477; N 48, Eт. 
6165). 

 

7.12. �D4кт8к4 O6лOетEO о5O74телL=K< D47дело< ��!!�. О=4 пDедEт46лOет Eо5о9 68д 
уGе5=о9 деOтелL=оEт8, =4пD46ле==о9 =4 DоD<8Dо64=8е, 74кDепле=8е, D4768т8е пD4кт8GеEк8E 
=46Kко6 8 ко<пете=F88 6 пDоFеEEе 6Kпол=е=8O опDеделе==KE 68до6 D45от, E6O74==KE E 5удуIе9 
пDоDеEE8о=4лL=о9 деOтелL=оEтLN. �D8 Dе4л874F88 ��!!� пDедуE<4тD864NтEO EледуNI8е 68дK 
пD4кт8к: уGе5=4O 8 пDо876одEт6е==4O. 

�Dо876одEт6е==4O пD4кт8к4 EоEто8т 87 д6уE Mт4по6: пD4кт8к8 по пDоD8лN EпеF84лL=оEт8 8 
пDедд8пло<=о9 пD4кт8к8. 

'Gе5=4O пD4кт8к4 8 пDо876одEт6е==4O пD4кт8к4 (по пDоD8лN EпеF84лL=оEт8) пDо6одOтEO 
о5D47о64телL=о9 оD74=874F8е9 пD8 оE6ое=88 о5уG4NI8<8EO пDоDеEE8о=4лL=KE ко<пете=F89 6 
D4<к4E пDоDеEE8о=4лL=KE <одуле9 8 <о7ут Dе4л87о6K64тLEO к4к ко=Fе=тD8Dо64==о 6 =еEколLко 
пеD8одо6, т4к 8 D4EEDедотоGе==о, GеDедуOEL E теоDет8GеEк8<8 74=Oт8O<8 6 D4<к4E 
пDоDеEE8о=4лL=KE <одуле9. 

&ел8 8 74д4G8, пDо7D4<<K 8 DоD<K отGет=оEт8 опDеделONтEO о5D47о64телL=о9 
оD74=874F8е9 по к46до<у 68ду пD4кт8к8. 

�Dо876одEт6е==4O пD4кт8к4 дол6=4 пDо6од8тLEO 6 оD74=874F8OE, =4пD46ле=8е 
деOтелL=оEт8 котоDKE Eоот6етEт6ует пDоD8лN под7ото6к8 о5уG4NI8EEO. 

�ттеEт4F8O по 8то74< пDо876одEт6е==о9 пD4кт8к8 пDо6од8тEO E уGето< (8л8 =4 оE=о64=88) 
Dе7улLт4то6, подт6еD6де==KE доку<е=т4<8 Eоот6етEт6уNI8E оD74=874F89. 

7.13.  е4л874F8O ��!!� дол6=4 о5еEпеG864тLEO пед47о78GеEк8<8 к4дD4<8, 8<еNI8<8 
6KEHее о5D47о64=8е, Eоот6етEт6уNIее пDоD8лN пDепод464е<о9 д8EF8пл8=K (<одулO). ОпKт 
деOтелL=оEт8 6 оD74=874F8OE Eоот6етEт6уNIе9 пDоDеEE8о=4лL=о9 EDеDK O6лOетEO о5O74телL=K< 
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длO пDепод464теле9, от6еG4NI8E 74 оE6ое=8е о5уG4NI8<EO пDоDеEE8о=4лL=о7о уGе5=о7о F8кл4. 
�Dепод464тел8 полуG4Nт допол=8телL=ое пDоDеEE8о=4лL=ое о5D47о64=8е по пDо7D4<<4< 
по6KHе=8O к64л8D8к4F88, 6 то< G8Eле 6 DоD<е Eт468Dо6к8 6 пDоD8лL=KE оD74=874F8OE =е Dе6е 
1 D474 6 3 7од4. 

7.14. ��!!� дол6=4 о5еEпеG864тLEO уGе5=о-<етод8GеEко9 доку<е=т4F8е9 по 6Eе< 
д8EF8пл8=4<, <е6д8EF8пл8=4D=K< куDE4< 8 пDоDеEE8о=4лL=K< <одулO< ��!!�. 

�=е4уд8тоD=4O D45от4 дол6=4 EопDо6о6д4тLEO <етод8GеEк8< о5еEпеGе=8е< 8 
о5оE=о64=8е< D4EGет4 6Dе<е=8, 74тD4G864е<о7о =4 ее 6Kпол=е=8е. 

 е4л874F8O ��!!� дол6=4 о5еEпеG864тLEO доEтупо< к46до7о о5уG4NIе7оEO к 5474< д4==KE 
8 585л8отеG=K< Dо=д4<, DоD<8Dуе<K< по пол=о<у пеDеG=N д8EF8пл8= (<одуле9) ��!!�. �о 
6Dе<O E4<оEтоOтелL=о9 под7ото6к8 о5уG4NI8еEO дол6=K 5KтL о5еEпеGе=K доEтупо< к 
8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 "�=теD=ет" (д4лее - EетL �=теD=ет). 

К46дK9 о5уG4NI89EO дол6е= 5KтL о5еEпеGе= =е <е=ее Gе< од=8< уGе5=K< пеG4т=K< 8 
(8л8) MлектDо==K< 87д4=8е< по к46до9 д8EF8пл8=е пDоDеEE8о=4лL=о7о уGе5=о7о F8кл4 8 од=8< 
уGе5=о-<етод8GеEк8< пеG4т=K< 8 (8л8) MлектDо==K< 87д4=8е< по к46до<у 
<е6д8EF8пл8=4D=о<у куDEу (6клNG4O MлектDо==Kе 547K пеD8од8GеEк8E 87д4=89). 

�85л8отеG=K9 Dо=д дол6е= 5KтL уко<плекто64= пеG4т=K<8 8 (8л8) MлектDо==K<8 
87д4=8O<8 оE=о6=о9 8 допол=8телL=о9 уGе5=о9 л8теD4туDK по д8EF8пл8=4< 6EеE уGе5=KE 
F8кло6, 87д4==о9 74 поEлед=8е 5 лет. 

�85л8отеG=K9 Dо=д, по<8<о уGе5=о9 л8теD4туDK, дол6е= 6клNG4тL оD8F84лL=Kе, 
EпD46оG=о-585л8о7D4D8GеEк8е 8 пеD8од8GеEк8е 87д4=8O 6 D4EGете 1 - 2 Mк7е<плOD4 =4 к46дKE 
100 о5уG4NI8EEO. 

К46до<у о5уG4NIе<уEO дол6е= 5KтL о5еEпеGе= доEтуп к ко<плект4< 585л8отеG=о7о 
Dо=д4, EоEтоOIе7о =е <е=ее Gе< 87 3 =48<е=о64=89 DоEE89Eк8E 6уD=4ло6. 

О5D47о64телL=4O оD74=874F8O дол6=4 пDедоEт468тL о5уG4NI8<EO 6о7<о6=оEтL 
опеD4т86=о7о о5<е=4 8=DоD<4F8е9 E DоEE89Eк8<8 о5D47о64телL=K<8 оD74=874F8O<8 8 доEтуп к 
Eо6Dе<е==K< пDоDеEE8о=4лL=K< 5474< д4==KE 8 8=DоD<4F8о==K< DеEуDE4< Eет8 �=теD=ет. 

7.15. �D8е< =4 о5уGе=8е по ��!!� 74 EGет 5Nд6ет=KE 4EE87=о64=89 DедеD4лL=о7о 5Nд6ет4, 
5Nд6ето6 Eу5Jекто6  оEE89Eко9 $едеD4F88 8 <еEт=KE 5Nд6ето6 O6лOетEO о5IедоEтуп=K<, еEл8 
8=ое =е пDедуE<отDе=о G4EтLN 4 Eт4тL8 68 $едеD4лL=о7о 74ко=4 от 29 дек45DO 2012 7. N 273-$� 
"О5 о5D47о64=88 6  оEE89Eко9 $едеD4F88" <1>. $8=4=E8Dо64=8е Dе4л874F88 ��!!� дол6=о 
оEуIеEт6лOтLEO 6 о5Jе<е =е =86е уEт4=о6ле==KE 7оEуд4DEт6е==KE =оD<4т86=KE 74тD4т =4 
ок474=8е 7оEуд4DEт6е==о9 уEлу78 6 EDеDе о5D47о64=8O длO д4==о7о уDо6=O. 

-------------------------------- 

<1> !о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2012, N 53, Eт. 7598; 2013, N 19, Eт. 
2326; N 23, Eт. 2878; N 27, Eт. 3462; N 30, Eт. 4036; N 48, Eт. 6165; 2014, N 6, Eт. 562, Eт. 566; N 19, Eт. 
2289; N 22, Eт. 2769; N 23, Eт. 2933; N 26, Eт. 3388; N 30, Eт. 4263. 

 

  Ко=EулLт4=т�лNE: пD8<еG4=8е. 
�у<еD4F8O пу=кто6 д4=4 6 Eоот6етEт688 E оD8F84лL=K< текEто< доку<е=т4. 

 

7.18. О5D47о64телL=4O оD74=874F8O, Dе4л87уNI4O ��!!�, дол6=4 D4Eпол474тL <4теD84лL=о-

теE=8GеEко9 547о9, о5еEпеG864NIе9 пDо6еде=8е 6EеE 68до6 л45оD4тоD=KE D45от 8 пD4кт8GеEк8E 
74=Oт89, д8EF8пл8=4D=о9, <е6д8EF8пл8=4D=о9 8 <одулL=о9 под7ото6к8, уGе5=о9 пD4кт8к8, 
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пDедуE<отDе==KE уGе5=K< пл4=о< о5D47о64телL=о9 оD74=874F88. �4теD84лL=о-теE=8GеEк4O 
5474 дол6=4 Eоот6етEт6о64тL де9Eт6уNI8< E4=8т4D=K< 8 пDот86опо64D=K< =оD<4<. 
 

�еDеGе=L к458=ето6, л45оD4тоD89, <4EтеDEк8E 

8 дDу78E по<еIе=89 

 

К458=етK: 

8EтоD88 8 оE=о6 D8лоEоD88; 

8=оEтD4==о7о O7Kк4; 

пE8Eоло788; 

8=DоD<4F8о==KE теE=оло789 6 пDоDеEE8о=4лL=о9 деOтелL=оEт8; 

4=4то<88 8 D878оло788 Gело6ек4; 

оE=о6 п4толо788; 

оE=о6 л4т8=Eко7о O7Kк4 E <ед8F8=Eко9 теD<8=оло78е9; 

7878е=K 8 Mколо788 Gело6ек4; 

D4D<4коло788; 

оE=о6 <8кDо58оло788 8 8<<у=оло788; 

оE=о6 п4толо788; 

пD46о6о7о о5еEпеGе=8O пDоDеEE8о=4лL=о9 деOтелL=оEт8; 

о5IеEт6е==о7о 7доDо6LO 8 7дD46ооED4=е=8O; 

D878оло78GеEко7о 4куHеDEт64; 

78=еколо788; 

пед84тD88; 

5е7оп4E=оEт8 687=едеOтелL=оEт8. 

Л45оD4тоD88: 

4=4то<88 8 D878оло788; 

D4D<4коло788; 

<8кDо58оло788 E куDEо< 8<<у=оло788 8 68DуEоло788; 

7878е=K; 

E8<88; 

D878к8; 

ко<пLNтеD=K9 кл4EE; 



теE=8GеEк8E EDедEт6 о5уGе=8O. 

!поDт86=K9 ко<плекE: 

откDKтK9 Eт4д8о= H8Dоко7о пDоD8лO E Mле<е=т4<8 полоEK пDепOтEт689; 

EтDелко6K9 т8D (6 лN5о9 <од8D8к4F88, 6клNG4O MлектDо==K9) 8л8 <еEто длO EтDелL5K. 

�4лK: 

585л8отек4, G8т4лL=K9 74л E 6KEодо< 6 EетL �=теD=ет; 

4кто6K9 74л. 

 е4л874F8O ��!!� дол6=4 о5еEпеG864тL: 

6Kпол=е=8е о5уG4NI8<8EO л45оD4тоD=KE D45от 8 пD4кт8GеEк8E 74=Oт89, 6клNG4O к4к 
о5O74телL=K9 ко<по=е=т пD4кт8GеEк8е 74д4=8O E 8EполL7о64=8е< пеDEо=4лL=KE ко<пLNтеDо6; 

оE6ое=8е о5уG4NI8<8EO пDоDеEE8о=4лL=KE <одуле9 6 уEло68OE Eо7д4==о9 
Eоот6етEт6уNIе9 о5D47о64телL=о9 EDедK 6 о5D47о64телL=о9 оD74=874F88 8л8 6 оD74=874F8OE 6 
7468E8<оEт8 от EпеF8D8к8 68д4 деOтелL=оEт8. 

�D8 8EполL7о64=88 MлектDо==KE 87д4=89 о5D47о64телL=4O оD74=874F8O дол6=4 о5еEпеG8тL 
к46до7о о5уG4NIе7оEO D45оG8< <еEто< 6 ко<пLNтеD=о< кл4EEе 6 Eоот6етEт688 E о5Jе<о< 
87уG4е<KE д8EF8пл8=. 

О5D47о64телL=4O оD74=874F8O дол6=4 5KтL о5еEпеGе=4 =ео5Eод8<K< ко<плекто< 
л8Fе=78о==о7о пDо7D4<<=о7о о5еEпеGе=8O. 

7.19.  е4л874F8O ��!!� оEуIеEт6лOетEO о5D47о64телL=о9 оD74=874F8е9 =4 7оEуд4DEт6е==о< 
O7Kке  оEE89Eко9 $едеD4F88. 

 е4л874F8O ��!!� о5D47о64телL=о9 оD74=874F8е9, D4Eполо6е==о9 =4 теDD8тоD88 
DеEпу5л8к8  оEE89Eко9 $едеD4F88, <о6ет оEуIеEт6лOтLEO =4 7оEуд4DEт6е==о< O7Kке DеEпу5л8к8 
 оEE89Eко9 $едеD4F88 6 Eоот6етEт688 E 74ко=од4телLEт6о< DеEпу5л8к  оEE89Eко9 $едеD4F88. 
 е4л874F8O ��!!� о5D47о64телL=о9 оD74=874F8е9 =4 7оEуд4DEт6е==о< O7Kке DеEпу5л8к8 
 оEE89Eко9 $едеD4F88 =е дол6=4 оEуIеEт6лOтLEO 6 уIеD5 7оEуд4DEт6е==о7о O7Kк4  оEE89Eко9 
$едеD4F88. 
 

VIII. О&��К� К�Ч�!&�� О!�О���/ � О� ���/ �О��О&О�К� 

!��&��Л�!&О� ! �����О ����� 

 

8.1. ОFе=к4 к4GеEт64 оE6ое=8O ��!!� дол6=4 6клNG4тL текуI89 ко=тDолL уEпе64е<оEт8, 
пDо<е6утоG=уN 8 7оEуд4DEт6е==уN 8то7о6уN 4ттеEт4F88 о5уG4NI8EEO. 

8.2. Ко=кDет=Kе DоD<K 8 пDоFедуDK текуIе7о ко=тDолO уEпе64е<оEт8, пDо<е6утоG=о9 
4ттеEт4F88 по к46до9 д8EF8пл8=е 8 пDоDеEE8о=4лL=о<у <одулN D47D454тK64NтEO 
о5D47о64телL=о9 оD74=874F8е9 E4<оEтоOтелL=о 8 до6одOтEO до E6еде=8O о5уG4NI8EEO 6 теGе=8е 
пеD6KE д6уE <еEOFе6 от =4G4л4 о5уGе=8O. 

8.3. �лO 4ттеEт4F88 о5уG4NI8EEO =4 Eоот6етEт68е 8E пеDEо=4лL=KE доEт86е=89 поMт4п=K< 
тDе5о64=8O< Eоот6етEт6уNIе9 ��!!� (текуI89 ко=тDолL уEпе64е<оEт8 8 пDо<е6утоG=4O 
4ттеEт4F8O) Eо7д4NтEO Dо=дK оFе=оG=KE EDедEт6, по76олONI8е оFе=8тL у<е=8O, 7=4=8O, 
пD4кт8GеEк89 опKт 8 оE6ое==Kе ко<пете=F88. 

$о=дK оFе=оG=KE EDедEт6 длO пDо<е6утоG=о9 4ттеEт4F88 по д8EF8пл8=4< 8 



<е6д8EF8пл8=4D=K< куDE4< 6 EоEт46е пDоDеEE8о=4лL=KE <одуле9 D47D454тK64NтEO 8 
ут6еD6д4NтEO о5D47о64телL=о9 оD74=874F8е9 E4<оEтоOтелL=о, 4 длO пDо<е6утоG=о9 4ттеEт4F88 
по пDоDеEE8о=4лL=K< <одулO< 8 длO 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 - D47D454тK64NтEO 8 
ут6еD6д4NтEO о5D47о64телL=о9 оD74=874F8е9 поEле пDед64D8телL=о7о поло68телL=о7о 
74клNGе=8O D45отод4теле9. 

�лO пDо<е6утоG=о9 4ттеEт4F88 о5уG4NI8EEO по д8EF8пл8=4< (<е6д8EF8пл8=4D=K< 
куDE4<) кDо<е пDепод464теле9 ко=кDет=о9 д8EF8пл8=K (<е6д8EF8пл8=4D=о7о куDE4) 6 к4GеEт6е 
6=еH=8E MкEпеDто6 дол6=K 4кт86=о пD86лек4тLEO пDепод464тел8 E<е6=KE д8EF8пл8= (куDEо6). 
�лO <4кE8<4лL=о7о пD85л86е=8O пDо7D4<< пDо<е6утоG=о9 4ттеEт4F88 о5уG4NI8EEO по 
пDоDеEE8о=4лL=K< <одулO< к уEло68O< 8E 5удуIе9 пDоDеEE8о=4лL=о9 деOтелL=оEт8 
о5D47о64телL=о9 оD74=874F8е9 6 к4GеEт6е 6=еHт4т=KE MкEпеDто6 дол6=K 4кт86=о пD86лек4тLEO 
D45отод4тел8. 

8.4. ОFе=к4 к4GеEт64 под7ото6к8 о5уG4NI8EEO 8 6KпуEк=8ко6 оEуIеEт6лOетEO 6 д6уE 
оE=о6=KE =4пD46ле=8OE: 

оFе=к4 уDо6=O оE6ое=8O д8EF8пл8=; 

оFе=к4 ко<пете=F89 о5уG4NI8EEO. 

�лO N=оHе9 пDедуE<4тD864етEO оFе=к4 Dе7улLт4то6 оE6ое=8O оE=о6 6ое==о9 Eлу65K. 

8.5. К 7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 допуEк4етEO о5уG4NI89EO, =е 8<еNI89 
4к4де<8GеEко9 74дол6е==оEт8 8 6 пол=о< о5Jе<е 6Kпол=86H89 уGе5=K9 пл4= 8л8 
8=д868ду4лL=K9 уGе5=K9 пл4=, еEл8 8=ое =е уEт4=о6ле=о поDOдко< пDо6еде=8O 
7оEуд4DEт6е==о9 8то7о6о9 4ттеEт4F88 по Eоот6етEт6уNI8< о5D47о64телL=K< пDо7D4<<4< <1>. 

-------------------------------- 

<1> Ч4EтL 6 Eт4тL8 59 $едеD4лL=о7о 74ко=4 от 29 дек45DO 2012 7. N 273-$� "О5 о5D47о64=88 
6  оEE89Eко9 $едеD4F88" (!о5D4=8е 74ко=од4телLEт64  оEE89Eко9 $едеD4F88, 2012, N 53, Eт. 
7598; 2013, N 19, Eт. 2326; N 23, Eт. 2878; N 27, Eт. 3462; N 30, Eт. 4036; N 48, Eт. 6165; 2014, N 6, Eт. 
562, Eт. 566; N 19, Eт. 2289; N 22, Eт. 2769; N 23, Eт. 2933; N 26, Eт. 3388; N 30, Eт. 4263). 

 

8.6. �оEуд4DEт6е==4O 8то7о64O 4ттеEт4F8O 6клNG4ет под7ото6ку 8 74I8ту 6KпуEк=о9 
к64л8D8к4F8о==о9 D45отK (д8пло<=4O D45от4, д8пло<=K9 пDоект). О5O74телL=ое тDе5о64=8е - 
Eоот6етEт68е те<4т8к8 6KпуEк=о9 к64л8D8к4F8о==о9 D45отK EодеD64=8N од=о7о 8л8 =еEколLк8E 
пDоDеEE8о=4лL=KE <одуле9. 

�оEуд4DEт6е==K9 Mк74<е= 66од8тEO по уE<отDе=8N о5D47о64телL=о9 оD74=874F88. 
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31.02.02 �куHеDEкое дело 
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Код по О5IеDоEE89Eко<у 
кл4EE8D8к4тоDу пDоDеEE89 

D45оG8E, дол6=оEте9 Eлу64I8E 8 
т4D8D=KE D47DOдо6 (ОК 016-94) 

�48<е=о64=8е пDоDеEE89 D45оG8E, дол6=оEте9 Eлу64I8E 

1 2 

24232 �л4дH4O <ед8F8=Eк4O EеEтD4 по уEоду 74 5олL=K< 
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